= I.
- _:' ""_ ] --l't'_ vl
ill - g _-"_-.-“\_H 3 5__-'- {
: 0
: \
I ) +
IJE‘HEI"'L‘
: | )
L
f
'llr:"'.ﬁ-
E{I::?_
er.'JI

OREA
Manufactured by [ G.5.ACE | K



ALUMINUM RACKING SYSTEM ALU M IN IJM RAC KI NG SYSTEM

@28 ALUMINUM RACKING SYSTEM 4
@43 ALUMINUM RACKING SYSTEM 40
28X28 ALUMINUM RACKING SYSTEM 51
40X40 AL PROFILE RACKING SYSTEM 55
ROLLER TRACK SYSTEM
ROLLER TRACKS 64
(STANDARD / SILENT / STS COVERED / UNIVERSAL)
ROLLER TRACK CAP 79
ROLLER MOUNTING BRAKETS 82
SLIDE PIPE MOUNTING BRACKETS 105
BOX GUIDE 108
BOX GUIDE CAP 115
BOX STOPPER 116
CASTERS
METAL CASTERS 121
AL CASTERS 123
FLOORLOCK 128
ACCESSORIES
PIPE REST & PLUG 130
CASTER MOUNT & MOUNT CORNER UNIT 133
FORK GUIDE & ASS'Y HAUL 141
METAL CLAMP 146
HOOK & HANGER & HANDLE 148
METAL JOINT COVER 152
TOOL HOLDER 154
ASS'Y PULLEY 155
NAME PLATE & LABEL CASE 158
LEVELING FOOT 162
THREADED INSERT & CAP 164
PLASTIC CHANNEL 169
FRAME GUIDE 170
EASTENERS o @28 ALUMINUM RACKING SYSTEM
HAND CUTTER 174
LIFT TABLE 175 @33 ALUMINUM RACKING SYSTEM
OTHERS 177
TECHNICAL SPECIFICATIONS 190 43 ALUMINUM RACKING SYSTEM
EXAMPLES 212 28X28 ALUMINUM RACKING SYSTEM

40X40 AL PROFILE RACKING SYSTEM

45X45 AL PROFILE RACKING SYSTEM




AL RACKING

ROLLER TRACKS

EXAMPLES

ALUMINUM RACKING SYSTEM

FEATURES OF ALUMINUM PIPE

AMS introduces a new revolutionary Aluminum Racking System to compliment
our current product offerings. Thea highlights of the new products are:

I Aluminum Racking System can be integrated in our traditional Pipe Racking System.

All of Metal Joints, Mounting Bracket, and Other Accessoriesc an be used in newly introduced Aluminum Racking System.

I Inner type joints will be flush with the aluminum pipe which will provide counter top panel a continuous support. (Fig 1)
I High esthetic value without glaring

I High strength to weight ratio (1/3 of welded structures)

I Can be used in clean room.

I Aluminum is environmentally friendly and retains high recycling value (up to 50% of aluminum market value)

ALUMINUM JOINT

oo oo
,,,,,,
. o

-

<Example for AL Pipe & AL Joint>

(Fig 1)

METAL JOINT

(Fig 2)

<Example for STS Pipe & Metal Joint>

@28 ALUMINUM RACKING SYSTEM

AP2812

- Weight: 0.382kg/m, O.D. @28

AP2820

I

- Weight: 0.450kg/m, O.D. @28

AP2829

- Weight: 0.500kg/m, O.D. @28

AP2812H

L

- Weight: 0.741kg/m, O.D. @28

AQ2812

- Weight : 0.374kg/m, O.D. @28

Regular Duty Pipe

Light Heavy Duty Pipe

Extra Heavy Duty Pipe

2276

Hand Rail Pipe

@28 ALUMINUM PIPE

26.8

ONIMOVY 1V




@28 ALUMINUM RACKING SYSTEM @28 ALUMINUM RACKING SYSTEM

AL2813 Round Pipe(For Metal Joint) AD2812

AL RACKING

- Weight: 0761kg/m, O.D. @28

AD2829

i

"
- Weight: 1138kg/m, O.D. @28

AD2812H

N
RURKY
»h

Sl

AR2820 Round Pipe(Light Heavy Duty)

\ D
; ¥4 Jj
\ls/

- Weight: 0.379kg/m, External Diameter @28 - Weight: 1372kg/m, O.D. @28

-

VIEW

——

- Weight: 0.446kg/m, External Diameter @28

AR2829 Round Pipe(Heavy Duty)

A-001C or B-001
VIEW

W

- Weight: 0.496kg/m, External Diameter @28

Heavy Duty Double Pipe

N
o

Extra Heavy Duty Double Pipe

ONIMOVY 1V

ool

"
=l ]

A-009

' AD2812 or AD2812H

—]

AD2829 or AD2812 Long Span U
\

B-001




AL RACKING

: -
m 1 m m o B
3 < 5 _vax.,”.f._ < = 5
o @ © S L u_ o ool o Bl ||
Qo I [ ! N N W
a ‘N 1 1 1 o
2 i g S E 5 L
) Anm < 3 .,, ___.lrlf(.h_ < < !
3 E 5 Lt B 5 | =2
nw S5 = = = .
o - o o o
= = = 3 3 3
L @ Il O O O
= L i o o o
(L — = > > >
> v () o o (o}
n 5 g B S S o
o a SE & ) ] G)
= g
m [J]
&) &
A [a)]
= g S
= : 3
= £ € £ S g
= o & 2 B g s K s
<< N S S K 3 S S
= = = = 1 =
QO + £ = O £ = £
N < 2 2 2 : 2

Full Slide Pipe (Light Duty)
Full Slide Pipe (Regular Duty)

- Weight: 0.372kg/m, O.D. @28
- Weight : 0.375kg/m, O.D. @28
e
e
=
- Weight: 0.408kg/m, O.D. @28

ALS2812

(=}
=
0
N
(7]
LL
<

@28 ALUMINUM RACKING SYSTEM
AFS2812

ONIMOVY TV




@28 ALUMINUM RACKING SYSTEM @28 ALUMINUM RACKING SYSTEM

AT2829 T Slot Pipe ACF2812 Flat Pipe

ONIMOVY 1V

AL RACKING

- Weight: 0.595kg/m, O.D. @28

% Spring Nuts can be used in the slot to attach various items
% Slot will facilitate the linear movement of attached item

- Weight : 0.358kg/m, O.D. @28

ATF2812 T-Flat Pipe

ASGP-08 Panel Guide Pipe

- Weight : 0.445kg/m
- Q'ty/Bundle : 8pcs
- Standard Length : 4MT

ASGP-08

B-091

- Weight : 0.614kg/m, O.D. @28

10 11



@28 ALUMINUM RACKING SYSTEM @28 ALUMINUM RACKING SYSTEM

@28 ALUMINUM JOINTS

H Outer Joints (Patented) H Outer Joints (Patented)

Single Tee Joint Swivel Joint (Rotation, Angle Adjust & Fix)

AL RACKING
ONIMOVY 1V

<AA-007F>
- Weight : 0.023kg - A-007: 2pcs - Weight : 0.017kg - A-007B: 2pcs, B-007A: 2pcs
- Q'ty/Box : 200pcs - M0625/NO6W-55: 1set - Q'ty/Box : 400pcs - M0625/NO6W-55: 1set, M0620/NO6W-55: 1set | Rotation

- Weight : 0.055kg
- Q'ty/Box : 100set

- Weight : 0.112kg
- Q'ty/Box : 50set

Swivel Joint (Angle Adjustable)

& a

Single Tee Joint (for round pipes)

\- AA-001C

<AA-027F>
- Weight : 0.025kg - A-001C : 2pcs - Weight : 0.031kg - A-007B: 2pcs, A-007C: 2pcs
- Q'ty/Box : 200pcs - M0625/NO6W-55 : 1set - Q'ty/Box : 200pcs - M0625/NO6W-55: 2set

- Weight : 0.060kg
- Q'ty/Box : 100set

- Weight : 0134kg
- Q'ty/Box : 50set

Swivel Joint (Angle Adjustable)

Outer Elbow Joint

\l

<AA-002> <AA-027M>
- Weight : 0.068kg - A-003 : Tpcs, A-001: 2pcs - Weight : 0.027kg - A-007C: 2pcs, A-007D: 2pcs
- Q'ty/Box : 60pcs - M0625/NO6W-55 : 2set - Q'ty/Box : 200pcs - M0625/NO6W-55  5: 2set

- Weight : 0.123kg
- Q'ty/Box : 30set

- Weight : 0133kg
- Q'ty/Box : 50set

Straight Joint Swivel Joint (Revolution, Angle Adjustable)

ik
- Weight : 0.064kg - A-004 : 2pcs - Weight : 0.031kg - A-007D : 2pcs B-007A : 2pcs
- Q'ty/Box : 80pcs - M0625/NO6W-55 : 2set N - Q'ty/Box : 200pcs - M0620/NO6W-55 : Tset
- Weight : 0.126kg - M0625/NO6W-55 : 1set
- Q'ty/Box : 40set - Weight : 0.112kg/m

13

12 - Q'ty/Box : 50set



AL RACKING

14

@28 ALUMINUM RACKING SYSTEM

H Outer Joints (Patented)

Double Tee Joint

M <AA-009>

- Weight : 0.050kg - A-009 : 2pcs

- Q'ty/Box : 100pcs - M0625/NO6W-55 : 1set
- Weight : 0.109kg
- Q'ty/Box : 50set

A-013L, A-013R 45° Joint

<AA-013>
- Weight : 0.023kg - A-013L : 1pcs, A-O13R : Tpcs
- Q'ty/Box : 200pcs - M0625/NO6W-55 : 1set

- Weight : 0.054kg

- Q'ty/Box : 100set

Single Tee Joint

s

¥
|marg

B <AA-021>
- Weight : 0.033kg - A-021 : 2pcs

- Q'ty/Box : 120pcs - M0625/NO6W-55 : 1set
- Weight : 0.074kg
- Q'ty/Box : 60set

A-023 Stop Joint

—
2

- Weight : 0.017kg - A-023: 2pcs
- Q'ty/Box : 300pcs - M0620/NO6W-55 : 1set
- Weight : 0.037kg
- Q'ty/Box : 150set

@28 ALUMINUM RACKING SYSTEM

H Outer Joints (Patented)

- Weight : 0.026kg
- Q'ty/Box : 150pcs

A-090

=

- Weight : 0.050kg
- Q'ty/Box : 80pcs

- Weight : 0.026kg
- Q'ty/Box : 200pcs

& A-201

- Weight : 0.026kg
- Q'ty/Box : 200pcs

Parallel Joint

j B <AA-028>
- A-028: 2pcs

- M0625/NO6W-55 : 1set

- Weight : 0.060kg

- Q'ty/Box : 75set

90° Elbow Joint

f‘f__

Al
- A-090 : 2pcs
- M0625/N0O6W-55 : 1set
- Weight : 0.110kg
- Q'ty/Box : 40set

Single Tee Joint

- A-101: 2pcs

- M0625/MO6W-55 : Tset
- Weight : 0.062kg

- Q'ty/Box : 100set

Single Tee Joint

<AA-201>

- A-201: 2pcs

- M0625/N06W-55 : 1set

- Weight : 0.060kg
Q'ty/Box : 100set

F|
B
[ T |
=
b o
il .
G T
ok . ;
B
" |
B
i @ ; o
=
W
il L
G T
3 . :

“S” Company Pipe

ONIMOVY 1V

15



@28 ALUMINUM RACKING SYSTEM

M Inner Joints (Patented)

Single Tee Joint

AL RACKING

e <BA-001>
- Weight : 0.018kg - B-001: 2pcs

- Q'ty/Box : 300pcs - M0620/NO6W-55 : 1set
- Weight : 0.044kg
- Q'ty/Box : 150set

B <BA-001H>
- Weight : 0.020kg - B-00TH : 2pcs

=]
Az
235

- Q'ty/Box : 240pcs - M0620/N06-55 : 1set
- Weight : 0.048kg
- Q'ty/Box : 120set

Single Tee Joint(Pipe Angle Adjustable

i
i

N
- Weight : 0.018kg -B-001C: 2pcs
- Q'ty/Box : 300EA - M0620/NO6W-55 : Tset
- Weight : 0.044kg
- Q'ty/Box : 150set

90° Offset Joint

e
<BA-006>
- Weight : 0.012kg - B-006 : 2pcs
- Q'ty/Box : 400pcs - M0625/NO6W-55 : 1set

- Weight : 0.036kg
- Q'ty/Box : 200set

16

.}
! I
iﬁﬁj

M Inner Joints (Patented)

- Weight : 0.017kg
- Q'ty/Box : 400pcs

- Weight : 0.025kg
- Q'ty/Box : 250pcs

B-007C

- Weight : 0.023kg
- Q'ty/Box : 250pcs

- Weight : 0.025kg
- Q'ty/Box : 250pcs

@28 ALUMINUM RACKING SYSTEM

Swivel Joint (Rotation, Angle Adjust & Fix)

- B-007A: 2pcs, B-007B : 2pcs
- M0620/NO6W-55 : 2set

- Weight : 0.099kg

- Q'ty/Box : 80set

i Rotation

- B-007B: 2pcs, B-007C : 2pcs

- M0620/NO6W-55 : 2set ;
- Weight : 0.112kg g
- Q'ty/Box : 80set

Swivel Joint(Angle Adjustable)

r [T

- B-007C: 2pcs, B-007D : 2pcs

- M0620/NO6W-55 : 2set

- Weight : 0111kg WETT
- Q'ty/Box : 80set

- B-007A: 2pcs, B-007D : 2pcs

- M0620/NO6W-55 : 2set ol
- Weight : 0.098kg L

- Q'ty/Box : 80set !

Rotation

ONIMOVY 1V

17



AL RACKING

18

@28 ALUMINUM RACKING SYSTEM

M Inner Joints (Patented)

Parallel Joint

-B-008 : 2pcs

- Weight : 0.013kg

- Q'ty/Box : 400pcs - M0620/NO6W-55 : Tset Jh r
- Weight : 0.032kg k E
- Q'ty/Box : 200set ekt

Parallel Joint

- Weight : 0.030kg
- Q'ty/Box : 200pcs

- B-011: 2pcs
- M0620/NO6W-55 : 2set
- Weight : 0.075kg
- Q'ty/Box : 100set

B-013L, B-013R 45° Joint

<BA-013>
- B-013L: 1pcs, B-013R : Tpcs
- M0620/NO6W-55 : 1set
- Weight : 0.043kg
- Q'ty/Box : 150set

- Weight : 0.018kg
- Q'ty/Box : 300pcs

Panel Joint

B-017A-08

- Weight : 0.030kg
- Q'ty/Box : 200pcs

Flat Headed Bolt
(5T : CM0620)

NOBW-55 7

@28 ALUMINUM RACKING SYSTEM

H Inner Joints (Patented)

Straight Connector Joint

- Weight : 0.024kg - B-044B : 2pcs
- Q'ty/Box : 200pcs - M0620/NO6W-55: 1set
- Weight :0.058kg

- Q'ty/Box : 100set

Corner Joint

Al
- Weight : 0.048kg
- Q'ty/Box : 100pcs

<BA-045>

- B-045: 2pcs

- M0620/NO6W-55 : 2set
- Weight : 0.114kg

- Q'ty/Box : 50set

90° Elbow Joint

|
i G

=

<BA-090>
-B-090: 2pcs

- M0620/NO6W-55 : 1set
- Weight : 0.086kg
- Q'ty/Box : 60set

- Weight : 0.039kg
- Q'ty/Box : 120pcs

v\& B-091 90° Elbow Joint (for 8T Panel)

i
- B-091: 2pcs
- M0620/NO6W-55 : 1set
- Weight : 0.086kg
- Q'ty/Box : 60set

- Weight : 0.039kg
- Q'ty/Box : 120pcs

Vi

o
1

Lk

ONIMOVY 1V

19



@28 ALUMINUM RACKING SYSTEM

M Inner Joints (Patented)

B-101 Single Tee Joint

az8
| e |
rrr
O [ =
Z i ES - e ;j
< | =
% A
B &
< - >
4 EA 0 =
< - Weight : 0.020kg -B-101: 2pcs %
- Q'ty/Box : 200pcs - M0620/MO6W-55 : 1set o '

- Weight : 0.048kg
- Q'ty/Box : 100ea

Corner Joint

e
<BA-145>
- Weight : 0.020kg - B-145: 2pcs
- Q'ty/Box : 400pcs - M6*10/MO6W-55 : 1set
- Weight : 0.047kg
- Q'ty/Box : 200set
BA-206 Crossover Joint (Angle Adjustable)

2

B-206A: 1pcs,

ﬁ\ B-206B: Tpcs,

B-206C: 1pcs,
B-206D: 1Tpcs

- Weight : 0.020kg - Weight : 0.020kg
- Q'ty/Box : 240pcs - Q'ty/Box : 240pcs

) )

- Weight : 0.035kg - Weight : 0.020kg
- Q'ty/Box : 240pcs - Q'ty/Box : 240pcs

20

- M0620/NO6W-55 : 2set
MO0625: Tpcs

- Weight : 0.117kg
- Q'ty/Box : 60set

“S” Company Pipe

G.S.ACE Pipe

@28 ALUMINUM RACKING SYSTEM

A28-A301
A28-301A

- Weight : 0.027kg
- Q'ty/Box : 160EA

A28-301B

- Weight : 0.019kg
- Q'ty/Box : 160EA

- Weight : 0.012kg
- Q'ty/Box : 250EA

A28-N303

- Weight : 0.005kg
- Q'ty/Box : 8O0EA

ABS-620

- Weight : 0.020kg
- Q'ty/Box : 300pcs

@28 ALUMINUM ACCESSORIES

AL Gas Spring Bracket

b
- A28-301A/B : 1set
- M0625/NO6W-55 : 1set
- Weight : 0.056kg
- Q'ty/Box : 80set

AL Board Support (Outside)

A28-N302

Board Support

- ABS-600SA Standard Length: 4MT

LT
T

ONIMOVY 1V

21



@28 ALUMINUM RACKING SYSTEM

ACY-N301 Plastic Cable Holder

AL RACKING

- Weight : 0.002kg
- Q'ty/Box : 3000pcs

-
-
]

ACY-303A Roller Track Guide Bracket

ﬂ‘

=]
g
e (25
- Weight : 0.055kg - ACY-303A: 2pcs - ACY-303A : 2pcs -4
- Q'ty/Box : 40pcs - DR-40R : 2pcs - Roller 40A, B, C, D : 2pcs 4
- M6*30/NO6W-55 : Tset - M6*30/NO6W-55 : Tset
- M4*40/NNO4W : 2set - M4*40/NNO4W : 2set

ACY-303B Roller Track Guide Bracket

L )
_ . I | 10.4 40
wh
! =
!
i ! | Lol ]
- Weight : 0.029kg - ACY-303A, B : 1pcs - ACY-303A, B : Ipcs
- Q'ty/Box : 80pcs - DR-40R : 1pcs - Roller 40A, B, C, D : 1pcs 93,4 38,3
- M6*30/NO6W-55 : Tset - M6*30/NO6W-55 : Tset S :
- M4*40/NNO4W : 1set - M4*40/NNO4W : 1set

22

@28 ALUMINUM RACKING SYSTEM

ACY-A306

- Weight : 0.083kg
- Q'ty/Box : 60pcs

AL Roller Guide

ONIMOVY 1V

23



@28 ALUMINUM RACKING SYSTEM

ARU-28A

AL RACKING

- Weight : 0.240kg
- Q'ty/Box : 40pcs

ACA-309A

-
-

- Weight : 0.320kg
- Q'ty/Box : 20pcs

24

AL Rotary Unit

One Way Clutch

Savilch
UinLozking

% Switch Locking
Inner Pipe Rotate CW
and Locked CCW

% Switch Unlocking
Inner Pipe Rotate
CW and CCW

@28 ALUMINUM RACKING SYSTEM

\g<§ ACY-31A Panel Cover (For Corner)

- Weight : 0.032kg
- Q'ty/Bundle : 90pcs

& ACY-312A

el

- Weight : 0192kg
- Q'ty/Bundle : 20pcs
- Standard Length : 4MT

& ACY-313A

- Weight : 0.15Tkg
- Q'ty/Bundle : 30pcs
- Standard Length : 3MT

& ACY-313B

- Weight : 0136kg
- Q'ty/Bundle : 30pcs
- Standard Length : 3MT

ACY-313A

ACY-311A

ACY-312A

ACY-313A Y
ACY-311A Mm

ACY-313B

ml

NS

S

ONIMOVY 1V

25



@28 ALUMINUM RACKING SYSTEM @28 ALUMINUM RACKING SYSTEM

‘{3‘& ACA-315A Joint Coupling Clamp

& ACA-2060A/80A Link Guide Unit

ONIMOVY 1V

AL RACKING

- Weight : 0.210kg
- Q'ty/Bundle : 24pcs

- Weight : ACA-2060A 1945kg
ACA-2080A 2.690kg

No. ITEM No. “L1” Pitch
1 ACA-2060A 605mm
20mm
2 ACA-2080A 800mm

- Weight : 0.005kg *Wrench Bolt (sold separately) -
- Qty/Bundle : 900pcs = Wrench Bolt M6

\@“ ACY-318A Pipe Connecting Adapter

“S” Company Pipe
Wrench Bolt(M6*20)

[TTITE]

- Weight : 0.034kg

- Q'ty/Bundle : 150pcs ﬁl F 3 [ ; E1
ﬂi L | i EI

) : : - Weight : ACA-4060A 1376kg
& ACY-318B Pipe Connecting Adapter ACA-4080A 1.898kg

G.S.ACE Pipe

“PCompany Pipe

No. ITEM No. “L1" Pitch

Wrench Bolt(M6+20) 1 ACA-4060A 605mm
40mm

2 ACA-4080A 800mm

- Weight : 0.027kg s e
5
- Qty/Bundle : 150pcs ﬁ- '?‘FT % ﬁ
[ V1

G.S.ACE Pipe

27

26



@28 ALUMINUM RACKING SYSTEM @28 ALUMINUM RACKING SYSTEM

ACPA-H6026A AL Connector Piece
ACP-H6026A-L

ACB-B28A/B AL Corner Base
= '-
T

ACP-H6026A-R

AL RACKING
ONIMOVY 1V

- Weight : 0.208kg - ACB-B28A/B : 1set

- Q'ty/Box : 24pcs - A-003 : TEA \
- MO0625/NO6W-55 : 2set - Weight : 0.007kg - ACP-H6026A-L/R : 1set
- Weight : 0.296kg - Q'ty/Box : 800pcs - MO0630 : 2pcs - Q'ty/Box : 300set

- Q'ty/Box : 24set

ACPA-V6026A AL Connector Piece

Cable Duct ACP-V6026A-L

o

ACP-V6026A-R w
- Weight : 0177kg/m - Standard Length : 4MT K <ACPA-V6026A>
- Qty/Bundle : 12pcs - Weight : 0.007kg - ACP-V6026A-L/R : 1set
- Q'ty/Box : 800pcs - M0625 : 2pcs - Q'ty/Box : 300set
ACM-500 AL Caster Mount :
SPS-0635 Spring Shaft

™ o _ﬁ__
L g hE
L\ CaSTER PLATE — = p b5y
- Weight : 0.054kg HEX, KLIT B8 Caster Application Model <ACPS-H6026A> H
Q1 : :PA500 Series - Weight : 0.008kg “ ACP-HE026A-L/R : Iset
Q'ty/Box : 100pcs p .
- Q'ty/Box : 4000pcs * SPS-0635 : Tpcs
- M0625/N06-55 : Tset

ACM-500-S - Weight : 0.034kg e

- Q'ty/Box : 300set

Door Rail

- Weight : 0.024kg
- Q'ty/Box : 200EA

- Weight : 0166kg/m - Standard Length : 4MT L
- Qty/Bundle : 20pcs

28 29



@28 ALUMINUM RACKING SYSTEM

@28 ALUMINUM RACKING SYSTEM

ACY-06A/B Mount Bracket (General Use) Slot Adapter (for T-Slot Pipe)
it *For assembling Joint to Flat Surface *Reinforce Holding Force between AT2829 & A-001
. ITEM No. L

) = ACY-06A 52mm >
= . ACY-06B 33mm =
2 of
E’ ; L |- g

= i ! 2 P
e @l =t 2
4 - Weight: 0027kg | i - Weight : 0.004kg )

/ L3 | | lles ,
- Q'ty/Box : 240pcs - Q'ty/Box : 1000pcs
-

Q&
2 -
Y ADT-06/08

Wrench Bolt

|
_I M0610 m
) @102 >
- | W E e &

- Weight : 0.017kg
- Q'ty/Box : 300pcs

- Weight : 0.004kg
- Q'ty/Box : 1,000pcs

& ACY-08A

ACY-N307

Slot Adapter (for T-Slot Pipe)

1 ;, 4
- 1 L
- i . , L.:rl_..l
& L= | = :
- Weight : 0.010kg
- Q'ty/Box : 600pcs ’, A

<Table for attachable Pipe/Profile >

- Weight : 0.019kg
- Q'ty/Box : 300pcs

&

ACY-09A

30

- Weight : 0.019kg wy [l L;:?..'a :
- Q'ty/Box : 300pcs | | | -

Aluminum Pipe Aluminum Profile Aluminum Pipe Aluminum Profile
PARTING. AT2829 40X40 45X45 PARTING. AT2829 40X40 45X45
ACY-06A A AN AN ADT-5H O 0
ACY-06B A A A ADT-06 0
ACY-07A 0 ADT-08 0 0
ACY-08A 0 ACY-N307 0 0
ACY-09A O O

31



AL RACKING

32

@28 ALUMINUM RACKING SYSTEM

ACA-319A

- Weight : 0.083kg
- Q'ty/Box : 60pcs

AFU-28A/C/S

Hinge Unit

Spring Nut(SN404~408)

AL Folding Unit

i

.

n s
- Weight : 0.081kg | L
- Q'ty/Box : 80pcs ﬂ j:ﬂ]

- Weight : 0.081kg Folding
<Table for suitable Pipe >
Aluminum Pipe Coated Pipe STS Pipe . |
PARTNO. 12T | 20T | 29T | 05T | 07T | 09T | 10T | 14T | 20T 07T | oor | 121  RubberColor
AFU-28A e} (0] (0] X X X X 0} (0] X X X Yellow
AFU-28C X X X ¢} ¢} O 0 X X X X X Black
AFU-28S X X X X X X X X X (0] (0] (0] Gray

@28 ALUMINUM RACKING SYSTEM

AH-540

/’“

Rotatable AL Sleeve (Short Type)

- Weight : 0.034kg = - Q'ty/Box : 100pcs

Rotatable AL Sleeve (Long Type)

Gray

- Weight : 0.046kg - Q'ty/Box :100pcs

AH-640

Aluminum Sleeve (Short Type)

@Black f
- Weight : 0.035kg = - Q'ty/Box : 100pcs

AH-655
-,

Aluminum Sleeve (Long Type)

@ Black
- Weight : 0.047kg = - Q'ty/Box : 100pcs

AH-800 Aluminum Sleeve (Long Type)

Gray

-Weight : 0118kg - Q'ty/Box: 36EA

Linear Motion

Rotation

ONIMOVY 1V

33



@28 ALUMINUM RACKING SYSTEM

ANP-01-150 Aluminum Name Plate

=3

AL RACKING

- Weight : 0.075kg
- Q'ty/Box : 150pcs e

AOS-28A

- Weight : 0.075kg - Q'ty/Box : 70pcs

<Loading>

Pipe Cover

- Weight : 0.050kg - Standard Length : 3MT
- Q'ty/Bundle : 50pcs

Pipe Cover

- Weight : 0.15Tkg - Standard Length : 3MT
34 - Q'ty/Bundle : 20pcs

@28 ALUMINUM RACKING SYSTEM

APHA-3027
APH-3027A S

-ifi

Round Pipe Connected Joint

>
N =
APH-3027B S
(@)
)
- 2
W APHA-3030A
M0625&
- Weight : 0.031kg - APH-3027A/B : 1set PWo6
- Q'ty/Box : 200pcs - M0625 : Tpcs, PWO6 : Tpcs

APHA-633N

APHA-633N

- Weight : 0.065kg il } % Adapter Joint between Standard
- Q'ty/Box : 120pcs Al Pipe(Profiled) and Round Pipe
(Include Coated Pipe & STS Pipe)

AL Sheet Guide

-Weight : 0176kg/m = - Qty/Bundle: 20pcs - Standard Length : 4AMT

AL Sheet Guide

-Weight : 0172kg/m | - Qty/Bundle:20pcs - Standard Length : 4AMT .-_--_:_.'

35




AL RACKING

36

@28 ALUMINUM RACKING SYSTEM

ASG-05B AL Sheet Guide

- Weight : 0.220kg - Standard Length : 4MT

- Q'ty/Bundle : 20pcs

Slot Roller

%

- Weight : 0.034kg - ASR-52:1pcs, GB-02:1pcs
- Q'ty/Box : 450pcs - M6x30:1pcs, SN406:1pcs

BA2800A/B AL Thread Insert

- Weight : 0.017kg
- Q'ty/Box : 300pcs

BA280LA/B/D/E

- Weight : 0.094kg
- Q'ty/Box : 160pcs

Metal Thread Insert

Part No.
BA2800A
BA2800B

“A” Tap Remark
1/2"-12N

M12-p175

Part No.
BA280LA
BA280LB
BA280LD
BA28OLE

“A” Tap Remark
1/2"-12N
M12-p175

M10

M8

@28 ALUMINUM RACKING SYSTEM

BA2818E Metal Thread Insert (For AL2818)

£, .!a':.mg

- Weight : 0.080kg
BP2800H

STS Nut

[l il
-H—]
[T

- W WTeD

Housing

% Housing
- Weight : 0.011kg - BP2800OH : 2pcs Part No. Colors “A"Tap Part No.
- Q'ty/Box : 1500pcs - N12S or N12S-12 : 1pcs M12 N12S (SUS 304)
BP2800 Gray

1/2"-12N Ni05S-12 (SUS 304)
Outer Cap

|

- Weight : 0.006kg

Weieh Ny Part No. Colors Material Remark
eight : 0.003kg GAP-4A Gray LDPE
- Q'ty/Box : 1500pcs
GAP-4E Black LDPE ESD
GAP-4H Black PP High Intensity
GAP-4AT Inner Cap for AT2829
128
——
! |E,ﬁ
= s g
F Il
- - - - -
- Weight : 0.002kg - Q'ty/Box : 3000pcs

ONIMOVY 1V

37



AL RACKING

38

@28 ALUMINUM RACKING SYSTEM

HG-143 BK/PG

Hand Grip

- Weight : 0.068kg
- Q'ty/Box : 150pcs
- Color : Black / Gray

Lifting Action Locking Device

- Weight : 0.210kg
- Q'ty/Box : 40pcs

LP2800 ELF Plate

- Weight : 0.0002kg
- Q'ty/Box : 10000pcs

@28 ALUMINUM RACKING SYSTEM

PRG-2805A/10A/20A/30A Pipe Roller Guide

PRG-2805A/10A/20A/30A

- Weight : 0.017kg
- Q'ty/Box : 600pcs

ACY-314A

&)
- Weight : 0.036kg
- Q'ty/Box : 600pcs

-LR-19:1EA

-PB-12:1EA

- M4x16 : 1pcs, IN404 : TEA
- Spring Washer : 1TEA

- Screw is sold separately
(PH M4*10W2Z)

' >

e -

I y 2

=<

@

PART NO. “L” Weight Qty/Box

PRG-2805A 50mm 2909 20EA
PRG-2810A 100mm 3009 10EA
PRG-2820A 200mm 4609 SEA
PRG-2830A 300mm 610g 4EA

Pipe Roller Guide (with Cover)

PART NO. “L

PRG-2805B 50mm
PRG-2810B 100mm
PRG-2820B 200mm

PRG-2830B 300mm

Weight Qty/Box
2909 20EA
3709 10EA
5309 SEA

6809 4EA

39




@28 ALUMINUM RACKING SYSTEM @43 ALUMINUM RACKING SYSTEM

WEIGHT Weight for Automation AP4319C Regular Duty Pipe

N

- Weight: 0.735kg/m, O.D. @43

AL RACKING
ONIMOVY 1V

WT-2802
EyeBoltType

AP4319H Extra Heavy Duty Pipe

(=)

243 [ I F
WT-4305/10/20 WT-4305B/10B/20B b
EyeBoltType StandardType \

-
“A”Overall “B“PIPE . ) “ L
NO  ITEMNO lergth | Length Weight Q'ty/Box - x

WT-2802/28028  79mm  700mm  025Kg+001Kg 45EA
WT-4305/43058  64mm  558mm | 05Kg+00IKg 35EA
WT-4310/4310B  B4mm  1259mm  10Kgz003Kg T6EA - Weight : 1.284kg/m, O.D. 243
WT-4320/4320B 276mm  2673mm  20Kg+005Kg 10EA

ROLLER TRACKS

AQ4320 Hand Rail AL Pipe

S~ W N =
3
[E

ADA4319 Extra Heavy Duty Double Pipe

EXAMPLES
z
5
o
)
N

-

- Weight : 1.887kg/m, O.D. @43

40 41



AL RACKING

42

@43 ALUMINUM RACKING SYSTEM

M Outer Joints
A-401

- Weight : 0.077kg
- Q'ty/Box : 60EA

- Weight : 0.123kg
- Q'ty/Box : 40EA

- Weight : 0.102Kg
- Q'ty/Box : 40pcs

A-413L, A-413R

N

- Weight : 0.082kg
- Q'ty/Box : 50EA

@43 ALUMINUM JOINTS

ingle Tee Joint

\

- A-401: 2pcs

- M0840/N08 : 1set
- Weight : 0178kg

- Q'ty/Box : 30set

Single Tee Joint (Heavy Duty)

- A-401W : 2pcs

- M0840/N08 : 1set
- Weight : 0.270kg
- Q'ty/Box : 20set

Swivel Joint (Angle Adjustable)

- B-407A : 2pcs, - Weight : 0.370kg )

- A-4078 : 2pcs - Qty/Box : 20set i - —i—j
- MO840/NOS : Tset ad -t

- M0830/N08 : Tset

45° Joint

- A-413L : Tpcs, A-413R : Tpcs
- M0840/N08 : 1set

- Weight : 0.188kg

- Q'ty/Box : 25set

@43 ALUMINUM RACKING SYSTEM

- Weight : 0.137kg
- Q'ty/Box : 30pcs

A-490

- Weight : 0.131kg
- Q'ty/Box : 30pcs

- A-490 : 2pcs

- M0840/N08 : 1set
- Weight : 0.296kg
- Q'ty/Box : 15set

oy

- A-490 : 2pcs

- MO0840/NO08 : 1set
- Weight : 0.286kg
- Q'ty/Box : 15set

Single Tee Joint (Heavy Duty)

90° Elbow Joint

[ AA-490 |

GAP-43B

4 -
r
1 B D
t/
x
L
o822
| =] 1
Li
o 172 =
| [ | = '
|
=B | -
— =
&l

ONIMOVY 1V

43



@43 ALUMINUM RACKING SYSTEM

M Inner Joints

B-401 Single Tee Joint
- -

N

- Weight : 0.061kg - B-401: 2pcs

- Q'ty/Box : 100pcs - M0830/N08 : Tset
- Weight : 0143kg

- Q'ty/Box : 50set

AL RACKING

Swivel Joint(Rotation, Angle Adjust & Fix)

Folding

- B-407A : 2pcs, B-407B : 2pcs
- M0830/N08 : 2set

- Weight : 0.306kg

- Q'ty/Box : 20set

- Weight :0.049kg
- Q'ty/Box : 120pcs

Rotation

- Weight : 0.083kg - B-407A : 2pcs, B-407B : 2pcs r.ﬂ.l_rﬂ.n.
- M0830/N08 : 2set

- Q'ty/Box : 60pcs

Rotation

- Weight : 0.306kg
- Q'ty/Box : 20set

Folding

- B-407B : 2pcs, B-407C : 2pcs
- M0830/N08 : 2set

- Weight : 0.306kg

- Q'ty/Box : 20set

- Weight : 0.070kg
- Q'ty/Box : 60pcs

Rotation

44

@43 ALUMINUM RACKING SYSTEM

Parallel Joint

- Weight : 0.051kg -B-411: 2pcs

- Q'ty/Box : 100pcs - M0620/NO6W-55 : 2set
- Weight : 0.120kg
- Q'ty/Box : 50set

Straight Connector Joint

- B-444 : 2pcs
- M0830/N08 : 2set
- Weight : 0.140kg
- Q'ty/Box : 30set

- Weight : 0.086kg
- Q'ty/Box : 60pcs

Corner Joint

<BA-445>

- Weight : 0.060kg - B-445 : 2pcs

- Q'ty/Box : 60pcs - M0620/NO6W-55 : 1set
- Weight : 0.135kg
- Q'ty/Box : 30set

90° Elbow Joint

- Weight : 0126kg - B-490 : 2pcs

- Q'ty/Box : 30pcs - M0830/NO08 : 1set
- Weight : 0.271kg
- Q'ty/Box : 15set

ONIMOVY 1V

45



AL RACKING

46

@43 ALUMINUM RACKING SYSTEM

@43 ALUMINUM & ACCESSORIES

Profile Joint

- Weight :0.102kg
- Q'ty/Box : 20pcs

- A-104 : 2pcs

- Weight : 0.219kg
- Q'ty/Box : 10set

- M0615/NO6W-55 : 2set

A43-N301

- Weight : 0.034kg
- Q'ty/Box : 150pcs

Aluminum Stanchion Mount

-

A43-N303 Board Support for @43

- Weight : 0.007kg
- Q'ty/Box : 400pcs

ABS-0530

- Weight : 0.037kg
- Q'ty/Box : 100pcs

e I Wrench Bolt(Vi5)

PR - S [ R
T [ I L~ =

1] e |
o e o 5

g

% Inner/Outer Board Support for assembling

Panel after @43 Aluminum Joint assembly
A401

@43 ALUMINUM RACKING SYSTEM

ABS-4320A Board Support for @43

s

- ABS-4320A : 1pcs, APC-01: Tpcs
- M0540 : Tpcs

- Weight : 0.020kg
- Q'ty/Box : 200pcs

ABS-4320C

g % Height adjusting Board Support for assembling
Panel after assembling Pipe with Profile

IR Wrench Bolt (V)

- Weight : 0.019kg i |-

- Q'ty/Box : 200pcs [ ] p— ——
L e
——
CE=A i
i = IJ E
s ——a
ABS-4320D Board Support for @43
: 7 . E % Inner Board Support for assembling Panel after
@43 Aluminum Joint assembly
L
b=} Wrench Bolt (M5) B401
i

- Weight : 0.020kg
- Q'ty/Box : 200pcs

Board Support

ABS-4320E

% Outer Board Support for assembling Panel after
@43 Aluminum Joint assembly

|E] WrenchBoltM5 A401

- Weight : 0.022kg
- Q'ty/Box : 200pcs

ONIMOVY 1V

47



AL RACKING

48

@43 ALUMINUM RACKING SYSTEM

ACHA-6040A
ACH-6040A-L

-Weight : 0.033kg |- Q'ty/Box : 100pcs

AD-SM43A

=B
dd

L .
-

- Weight : 0.680kg
- Q'ty/Box : 40pcs

AD-SM43L

2
7

- Weight : 0.680kg
- Q'ty/Box : 40pcs

AD-SM43R

Er

«

- Weight : 0.680kg
- Q'ty/Box : 40pcs

AL Component Holder

<ACHA-6040A>

- ACH-6040A-L/R : 1set
- M0612 : Tpcs, SN406 : 1EA
- Q'ty/Box : 75set

Stanchion Mount Single

!']-;

<ADA-SM43A>

- AD-SM43A : Ipcs
- HMO0615 : 1pcs

- Weight : 0.680kg
- Q'ty/Box : 40set

£ !

Stanchion Mount Single-Left
L4 )!

- AD-SM43L : Tpcs
- HMO615 : 1pcs

- Weight : 0.680kg
- Q'ty/Box : 40set

Stanchion Mount Single-Right

3

- AD-SM43R : 1pcs
- HMO615 : 1pcs

- Weight : 0.680kg
- Q'ty/Box : 40set

#a

T'H

@43 ALUMINUM RACKING SYSTEM

ACM-600 AL Caster Mount

=

- Weight : 0.068kg
- Q'ty/Box : 60pcs

HEX.NUT M8

AMB-0654 Mount Bracket

% Mount Bracket for assembling
Aluminum Pipe with Profile

- Weight : 0.083kg
- Q'ty/Box : 100pcs

AMB-0684 Mount Bracket

% Mount Bracket for assembling
Aluminum Pipe with Profile

@-@ A-401W

I\IIIIIHI%

Mé6*15

- Weight : 0.129kg
- Q'ty/Box : 50pcs

ONIMOVY 1V

49



@43 ALUMINUM RACKING SYSTEM

ASG-4305 AL Sheet Guide for @43

"

% AL Sheet Guide for @43

8 5T Pannel

o
= ASG-4305
X
(&) .
& 4
< - Weight : 0.956kg/m - Standard Length: 4MT M ;
- Q'ty/Bundle : 20pcs el

BA4300A/B/D AL Threaded Insert

-E=

Part No. “A” Tap Remark
- Weight : 0.032kg BA4300A /2"
- Q'ty/Box : 150pcs BA4300B M12

BA4300D M10

BA4300N AL Cap

- Weight : 0.034kg
- Q'ty/Box : 150pcs

50

@43 ALUMINUM RACKING SYSTEM

BP4300H AL Plastic Thread Insert

—

STS Nut

Housing

- Weight : 0.014kg - BP4300H : 2pcs, STS Nut : 1pcs
- Q'ty/Box : 800EA

GAP-43A Plastic Inner Cap

X4

- Weight : 0.005kg
- Q'ty/Box : 600EA

GAP-43B Plastic Round Inner Cap

e

- Weight : 0.007kg
- Q'ty/Box : 600EA

ST Musld 12, 102"

ir.5

BP4300H 2Piece

A _ssmomarn

&

ONIMOVY 1V

51



28X28 ALUMINUM RACKING SYSTEM 28X28 ALUMINUM RACKING SYSTEM

* Surface Treatment - PE-Coating

ASQ2812A 90° 2-way Linking Square Pipe

ALUMINUM SQUARE
RACKING SYSTEM
SPECIAL FEATURES

»  Esier Assembly than Aluminum Profile (Reduce assmbly time by 40%)

ONIMOVY 1V

AL RACKING

*  No Exterior Groove (No Need to fill T-Groove when using in cleanroom)
» Low Cost and Lightweight Compared to Aluminum Profile
»  Flat Rack Possible by Linking Aluminum Square Pipe with Joint

(Easy to fix plate and parts with flat square rack)

o Compatible with Circular @28 Aluminum Pipes and Joints

(Compatible with ExistingCircular @28 Aluminum Pipes and Joints and

Various Accessories)

- Weight : 0.591kg/m | - Qty/Bundle : 8EA L2
ASQ2812D Square Pipe to Prevent Foreign Particles from Entering
-
7 X
A [
e e

- Weight : 0.555kg/m | - Q'ty/Bundle : 8EA Lr —

ASQ2812E

- Weight : 0.522kg/m | - Q'ty/Bundle : 8EA

52 53




28X28 ALUMINUM RACKING SYSTEM

ASQ2812F L-Type Square Pipe to Prevent Foreign Particles from Entering

28X28 ALUMINUM RACKING SYSTEM

C-001

28X28 ALUMINUM JOINT & ACCESSORIES

Square Joint for 28 X28

Unit : mm

AL RACKING

- Weight : 0.646kg/m |
- Q'ty/Bundle : 6EA

276

<Panel Attachment for AL Rack assembled with Standard AL Pipe>

PANEL

L7
S

\J
]

<Panel Attachment for AL Rack assembled with Square AL Pipe>

54

Patent Pending

- Weight : 0.021kg
- Q'ty/Box : 200pcs

& GAP-2828A

- Weight : 0.003kg

" [
- C-001: 2pcs 219
- M0620/NO6W-55 : Tset ]

- Weight : 0.050kg 1 E:E__H_ i 5 g
- Q'ty/Box : 100set e AL - : ol

Inner Cap for 28X28

- Q'ty/Box : 1500pcs

% Recommend that the pipe linking
with the joints are calculated by
floating 30mm from the center of
the pipe

GAP-2828D

- Weight : 0.003kg
& GAP-2828E

- Weight : 0.003kg
BP2828A

N

S rd
:.!:"‘ 'T |

- Weight : 0.003kg

Inner Cap for 28X28
15.5
27.6
i 3 'rl .
GE-ACE ]
TRE-TRIN m T
T - -

- Q'ty/Box : 1500pcs

Inner Cap for 28X28

EFE_ 2.5

- Q'ty/Box : 1500pcs
Bushing Cap for 28X28

- Q'ty/Box : 1500EA

28 Bushing

ONIMOVY 1V

55



AL RACKING

56

40)(40 ALUMINUM PROFILE RACKING SYSTEM

ALUMINUM PROFILE
RACKING SYSTEM

More Convenient to assemble than Aluminum Profile (Reduce assembly time about 40%)
Smooth appearance without grooves (No need to T-backing when used in Clean Room)
Lightweight and Low cost compared to Aluminum profile.

Flat Rack Configuration with Aluminum Square pipe and Joint

(Easy to assemble for flat surface and fix with accessories)

Compatibility with @28 & @43 Aluminum Circular Paipe’s Joint

Can be used with existing Joint of @28 and @43 aluminum round pipe and various accessories

Can be used T groove and various availible accessories

40)(40 ALUMINUM PROFILE RACKING SYSTEM

New Profile Application Example

ONIMOVY TV

57



AL RACKING

58

40)(40 ALUMINUM PROFILE RACKING SYSTEM

40X40 ALUMINUM PROFILE

Unit: mm

& ASJA040A

-
¢

90° 2-Way Joint Linking Profile

- Material A6063-T5
- Weight 1195 kg/m
- Surface Treatment ~ PE-Coating

&

& ASJA040B
[BBesion patent_|

- Material A6063-T5

- Weight 121 kg/m
- Surface Treatment ~ PE-Coating

ASJ4040C

- Material A6063-T5
- Weight 1200 kg/m
- Surface Treatment  PE-Coating

* Surface Treatment Option : Anodizing

ASJ4040D Profile to Prevent Foreign Particles from Entering

| / i |
'\1\.
L |
f—-o03—H @

——, :{,_r | ,.,_:_.-’_

- Material A6063-T5 ]| | |

- Weight 1175 kg/m L |

- Surface Treatment  PE-Coating - _-:m__ I

* Surface Treatment Option : Anodizing

40)(40 ALUMINUM PROFILE RACKING SYSTEM

Unit: mm

& ASJA040E

Design Patent

3-Way Joint Linking Profile

- Material A6063-T5

- Weight 1145 kg/m

- Surface Treatment  PE-Coating

Y

& ASJ4040R Corner Round 90° 2-Way Joint Linking Profile

- Material A6063-T5

- Weight 1216 kg/m

- Surface Treatment  PE-Coating

Joint Linking Profile
Application Example

ONIMOVY 1V

59



40)(40 ALUMINUM PROFILE RACKING SYSTEM 40)(40 ALUMINUM PROFILE RACKING SYSTEM

Unit: mm Unit: mm
AST4040A 90° 2-Way T-Groove Profile ASM4040C Combination Profile (3-Way T-Groove, 1-Way Joint Linking)
Design Pate

o >
=z r
X
% g
2

- =
< . (1 P ®

- Material A6063-T5 =l s h - Material A6063-T5

- Weight 1190kg/m - ;l: | S - Weight 1292 kg/m

- Surface Treatment ~ PE-Coating = ‘h' Sl @18 - Surface Treatment  PE-Coating 41.5 .

L - - * |Insert Nut : IN304~IN306 Insgrt Nut : IN304~IN306
* Surface Treatment Option : Anodizing *Spring Nut : SN304~SN306 * Surface Treatment Option : Anodizing * Spring Nut : SN304~SN306

AST4040D & ASM4040R Corner Round Combination Profile (1-Way T-Groove, 1-Way Joint Linking)

l.. Design Patent ]

- Material ABOG3-TS = e : ' " Material AB0E3TS

) f | i - Weight 1169 kg/m
- Weight 1264 kg/m o] ke |
9 9/ Ak P R I8 L. *Insert Nut : IN304~IN306
- Surface Treatment  PE-Coating = L - uriace freatmen ~-oating L1k * Spring Nut : SN304~SN306
* Insert Nut : IN304~IN306
* Surface Treatment Option : Anodizing *Spring Nut : SN304~SN306

Combination Profile Application Example

T-Groove Assembly Application Example

60 61



40)(40 ALUMINUM PROFILE RACKING SYSTEM

40)(40 ALUMINUM PROFILE RACKING SYSTEM

40X40 ALUMINUM JOINTS & ACCESSORIES

Unit: mm

Square Joint for 40x40
I 5

O

=

X

Qo .

§ ¢ . ' Lt

. ; . - D- . L LE]

_ Weight : 0.044kg D-001: 2EA — e —

< - Q'ty/Box : 120pcs - M0830/N08 : 1 set N e .
- Weight : 0.1 08kg | ! i
- Q'ty/Box : 60set T T | % T

| | 1

- Weight : 0.034kg
- Q'ty/Box : 100pcs

% Use M6*15 in case of using
spring washer & plane washer

- Weight : 0.046kg
- Q'ty/Box : 60pcs

% Use M6*15 in case of using
spring washer & plane washer

62

BA4040A/B Aluminum Brushing for 40x40

i ."r\.-. w=g i JJ
““@{' 1 | >
g oo by -

. < B :
18 |__, BE 7 §
L8 NN Tap: | § 1A =S
P
- Weight : 0.027kg \ =
- Q'ty/Box :200EA Part No. “A"Tap Remark Flat Headed Tapping e}
BA4040A 1/2"-12N Screw(FH8x25)

BA4040B MI2- p1.75

V{& GAP-4040A Corner Cap for 40X40

ASJ4040A

- Weight : 0.005kg ' 15.6
- Q'ty/Box : 1200pcs

GAP-4040D

Inner cap for 40x40

: v
3 . | g A
a0 I a5 | %§§ |
Weight : 0.005kg 5.5

- Q'ty/Box : 1200pcs

63




ROLLER TRACK SYSTENM

ROLLER TRACKS

- STANDARD ROLLER TRACK

- SILENT ROLLER TRACK

- STS COVERED ROLLER TRACK
- UNIVERSAL ROLLER TRACK
ROLLER TRACK CAP
MOUNTING BRACKETS

SLIDE PIPE MOUNTING BRACKETS
BOX GUIDE

BOX GUIDE CAP

BOS STOPPER

ROLLER TRACKS

ROLLER TRACK NUMBERING SYSTEM

Unit : mm

ROLLER COLOR

YL: YELLOW

PITCH

| A:ROUND

Z B:FLAT

5 C:FLANGE

| SR:STS COVERED ROLLER

D:LARGE
HA:TAPER

G PR WH: WHITE
GR: GRAY
| SERIES/FRAME SIZE ROLLER TYPE B BK: BLACK

M:MULTI
BF:FLEXIBLE
S:SLIM

SPECIFICATION

Standard Roller Track
Body Load Roller

Series

Part No.

Material

Capacity

Diameter

Shaft

Diameter Standard

SYOVUL ¥3TI0N

(mm) (kg-f) (mm) (mm)

Length

35 Series GP3533B Gl
GP4035BS
GP4036A
36
GP4036B @34
40 Series P4040A Gl
© 150 04 40
GP4040B
GP4050C 249 0
GP4050D @43
GP4025M @34 ?3.3 25
GP6016S 100 215 16.67
60 Series GP6033B Gl 4
150 @30 2 33.33
GP6033HA
GP8525M 25
85 Series Gl 300 @34 @5
GP8543B @40 43

3MT/AMT

3MT/4MT

3MT/AMT

3MT/4AMT

Silent Roller Track

Standard
Length

3MT/4MT

Body Load Roller Shaft
Series Part No. Material [ Capacity | Diameter | Diameter
(mm) (kg-f) (mm) (mm)
25 Series GPR2528A AL 60 @25 @3 28.57
GPR4040A
GPR4040B 034 40
40 Series GI/AL 150 o4
GPR4055C @49 55
GPRG4040B AL @34 40
GPR6016S 100 215 16.67
60 Series GPR6033B GI/AL 150 o4
@30 33.33
GPR6033HA 150
GPR8523S 200 ©20.5 225
85 Series GPR85458B GI/AL 3 ?3.5
00 40 4
GPR8545HA o >
OOy  GPR1021BFS AL 200 ?17.6 @5 21

2MT/3MT

65



(2]
x
=
-
o-
Ll
i
=l
o
oz

66

ROLLER TRACKS ROLLER TRACKS

STANDARD ROLLER TRACK
STS COVERED ROLLER TRACK Unit: mm
Body Load Roller Shaft Roller Roller Color GP-3533B Pitch:33
. : : . . . Slope Standard
Series Part No. Material | Capacity | Diameter | Diameter Pitch >()° wh |l er ek | v | Bk | ar Length
(mm) (kg-f) (m (mm) (mm)
25 Series GPR4040SR 150 @34 0 3MT/AMT [
‘ GPR85235R GI/AL 0206 225 O 2 e i
25 Series 300 300 15° : 2MT | | L. |
GPR8545R 043 45 Body : Gl L1 U 1T L o s s O
: = T SR s
- Material % | |
Roller : PE | - o W 7 T o
UNIVERSAL ROLLER TRACK T
- Q'ty/Bundle 10ea
Body Load Roller Shaft Roller Roller Color Qty.
. : . : . . Slope Standard
Series Part No. Material | Capacity | Diameter | Diameter Pitch >
(kg-f) (mm) >()" | WH | GR|BK | YL | BK|GR | Length GP-4035BS Pitch: 35
25 Series GPR4040SR GIAL 150 @34 o4 40 2.0° O 3MT/4MT
25 Series GPR8523SR 300 220.6 300 225 1.5° O 2MT
40
—
i g
Body: GI . ! g e
CHOICE OF THE ROLLER TYPE - Material algl | i
-y
Roller : PE AR J & & ] [
- Q'ty/Bundle 10ea
GP-4036A Pitch : 36
| | -
-
') -".'ir
BOX @ RBOX
* Body : Gl
* - Material
| : Roller : PE
/F*J - Q'ty/Bundle 10ea
% K GP-4036B Pitch: 36
g
-# - 1] Pudi
% Old box with the bent bottom will not be rolled over B Type % Old box with the bent bottom will be well-rolled over HA Type o 'I i
PR s sV sV w0 Y
BOdyGl ‘ - %r\. s e - — ===
- Material # ;r [ =f|
Roller : PE b | a o n] 5
- Q'ty/Bundle 10ea

GP-4040A Pitch : 40

-

- Material

- Q'ty/Bundle

E_"""";J Fow .. ., ..
Body : Gl a9 T 3
Roller : PE L L :'|I::-:cnaa-:-.

10ea EI

SYOVUL ¥3TI0N

67



ROLLER TRACKS ROLLER TRACKS

Unit: mm Unit: mm
GP-4040B Pitch : 40 GP6033B Pitch: 33
i
‘ -
-1
[. an AT P=333,

iy — 1y
Body : Gl Body : Gl :|— b -gﬁ M‘&
- Material - Material G | | [ | | T &5 5 7 8 & 4

Roller : PE Roller : PE b .I"\-EI

- Q'ty/Bundle 10ea - Q'ty/Bundle 10ea

Sl GP-4050C R GP6033HA Pitch : 33 -

(=]
= i
ﬁ o |
3 2 167_P=333 5
3 a | 2

' Body : GI Body : GI - : WA VAT e VAT AT A
LIl . - Material o ==
Roller : PE Roller : PE EL . —

- Q'ty/Bundle 10ea - Q'ty/Bundle 6ea

GP-4050D Pitch : 50 Pitch: 25
v -
v P

L - P=R)
LT e T £Ts £ | |
Body : Gl | ¥ 'i u:-p: Body : Gl
- Material # Il - Material
Roller : PE 1 —— i} =] [x] | Roller : PE
- Q'ty/Bundle 10ea - Q'ty/Bundle 4ea
GP4025M Pitch: 25 GP8543B Pitch: 43
&4 g =
h M=y [ = A} -I ,:aj,-s-_,_ Fed3 _
= |
] = . | | ﬁ“‘h ST AT T
Bodly : Gl Z| = Body : GI [ HE
- Material i S B 6 & & - Material ﬁ | - - -
Roller : PE L : ; |

Roller : PE | & |

- Q'ty/Bundle 10ea

- Q'ty/Bundle 4ea

Pitch : 16

- 0 -
A5 o B F=tT
B
: [ T + Lan O T e W s, N o, W s, BT,
Body : Gl A A —— B
- Material f C = ] 1
Roller : PE L o——— : tod

- Q'ty/Bundle 10ea

68 69



ROLLER TRACKS ROLLER TRACKS

SILENT ROLLER TRACK
Unit: mm Unit: mm

GPR2528A-AL Silent Roller, Pitch: 28.6 ‘\‘3‘& GPRG4040B Guide Type Roller Track, Pitch : 40

Patent Pending |~

I8 i
g |y #r’?-"“'ﬁ

. i | < 4 | B
. Body : Aluminum :tl—lﬂ: #) = e ,u.'r'f..g-i?? o Body : Aluminum E
- Material . 8 ?"I_ | j? : f ﬁ' - 5’ b - Material . |
Roller : PE 15 _t 1| | Roller : PE |
L =t | I
- Q'ty/Bundle 14ea E _.a-"-'"r - Q'ty/Bundle 4pcs

\@“ ACY-317A Groove Cover

ROLLER TRACKS
SYOVUL ¥3TI0N

Body : Gl - Material Silicon

- Material

Roller : PE - Weight 0.064kg/m

- Q'ty/Bundle 10ea o

GPR4040A/B-AL Silent Roller, Pitch: 40

- GPRG4040B Application Example
=

Body : Aluminum
- Material

Roller : PE

- Q'ty/Bundle 10ea

GPR4055C-GlI Silent Roller, Pitch: 55

Body : Gl
- Material

Roller : PE

- Q'ty/Bundle 10ea
% Used for loading and moving Display
Panel Silicon Groove Cover(ACY-317A)
can be attached to protect loaded
products

GPR4055C-AL Silent Roller, Pitch: 55

Body : Aluminum

- Material

=
Roller : PE =

75

- Q'ty/Bundle 10ea

70 71



ROLLER TRACKS ROLLER TRACKS

Unit: mm Unit: mm

GPR6016S-Gl Silent Roller, Pitch : 16 GPR6033HA-AL Silent Roller, Pitch : 33

Body : Aluminum §
- Material

Roller : PE

Body : Gl
- Material

Roller : PE

- Q'ty/Bundle 6ea - Q'ty/Bundle 6ea

(72) A A : 3
= GPR6016S-AL Silent Roller, Pitch : 16 GPR8523S-Gl Silent Roller, Pitch : 22.5 2
2 m
= 3
& £
= 2
< @)

Body : Aluminum .

- Material - Material ol
Roller : PE Roller : PE

o Of 6
Q'ty/Bundle ea - Q'ty/Bundle 4ea

GPR6033B-GlI Silent Roller, Pitch : 33 GPRS8523S-AL Silent Roller, Pitch : 22.5

Body : Aluminum Body : Aluminum

- Material ° i
Roller : PE Material Roller : PE

- Q'ty/Bundle 6ea - Q'ty/Bundle 4ea

Silent Roller, Pitch : 33

GPR6033B-AL GPR8545B-Gl Silent Roller, Pitch :45

Body : Aluminum Body : Gl

- Material g i
Roller : PE Material Roller : PE

- Q'ty/Bundle 6ea

GPR6033HA-GI Silent Roller, Pitch : 33

- Q'ty/Bundle 4ea

Silent Roller, Pitch : 45

| Body : Gl Body : Aluminum
- Materia . i
Roller : PE Material

Roller : PE

- Q'ty/Bundle 6ea - Q'ty/Bundle 4ea

72 73



ROLLER TRACKS ROLLER TRACKS

STS COVERED ROLLER TRACK

Unit: mm Unit: mm

GPR8545HA-GI Silent Roller, Pitch : 45 GPR4040SR-GI STS Covered Roller, Pitch: 40

Body : Gl Body : Aluminum

- Material - Material

Roller : PE Roller : STS+PE

- Q'ty/Bundle 4dea - Q'ty/Bundle 10ea

2 P
S GPR8545HA-AL | Silent Roller, Pitch: 45 STS Covered Roller, Pitch:23 (=)
] -
= 3
—'
o
= &6 ) 67 - =
gl 4 . | S e _'—l m.r %
| T s Hi——— Tl
Body : Aluminum &I ;{ L1 ] E; Body : GI Ei
- Material L -1 - Material
e Roller : PE B o e e | Roller : STS+PE |
- Qty/Bundle 4ea 5" = - Qty/Bundle 4ea ' B
GPR1021BFS-AL Silent Roller, Pitch : 21 GPR8523SR-AL STS Covered Roller, Pitch:23
o
L Bra - &7
= -k
L | .
el i PR F—
Body : Aluminum £ ) i Body : Aluminum % —i E
- Material gn :]Zhi - Material ol = .
Roller : Urethane _l 1 . NIF Roller : STS+PE .
et 2 | a5
- Q'ty/Bundle 4ea |

- Q'ty/Bundle dea

o

=t

Body : Aluminum 51
- Material {4
Roller : STS+PE ﬁld

- Q'ty/Bundle dea

Body : Aluminum
¢ Roller: STS+ PE
j -Qty/Bundle  4ea

74 75

- Material




ROLLER TRACKS ROLLER TRACKS

UNIVERSAL ROLLER TRACK
Unit: mm
GPR8550SR-GI STS Covered Roller, Pitch: 50 UR4050-AL Universal Roller, Pitch: 50

% 50 50
67 i ‘ i

'.‘ e o
PE Roller | ¢

Body : Aluminum

42.7
47.9

- Material

35.5

Body : Gl 3 .
g v - - Material - O O] O O [0 O Roller : Acetal
g rollr: STo PE -Q'ty/Bundle 6ea
- Q'ty/Bundle 4ea

s o]
= o
E’ UR6067-AL Universal Roller, Pitch:67 IEI
= ' &
= £
—
o O
2 : 7
B
. !
 Material Body : Aluminum gl
Roller : Acetal é
- Q'ty/Bundle 4ea ¢
1. Excellent durability of abrasion
- Surface of Roller is Stainless(STS) material
2. No Dust
- No Dust of Roller in comparison with Plastic Roller cdaused by friction with box
3. Strong to shock
- Surface of Roller is Stainless(STS) material
4. No surface contamination
- Possible to keep clean condition by getting rid of stain or dirty things in Roller Surface
77

76



ROLLER TRACKS

78

ROLLER TRACKS

PR-01 Pipe Roller -L

- Material PE
- Weight 0.031kg

- Q'ty/Box 150pcs

PR-02 Pipe Roller - S
- Material PE
- Weight 0.022kg

- Q'ty/Box 210pcs

SR-40 Stop Roller

"I.- # - Material PE

- Weight 0.012kg

- Qty/Box 450pcs

% The intervals of 15mm

Stop Roller

- Material Aluminum
- Weight 0.046kg

- Q'ty/Box 80pcs

Stop Roller

; gla'y: - Material Aluminum
’ o - Weight 0.078kg

/7
y( - Q'ty/Box 40pcs

(Loading)

(Stopping Backflow)

ROLLER TRACKS

Unit: mm

DR-40R Decelerating Roller

Decelerating Rofler )
Vs ;AiAT Yan VAR

Roller Maximum Box Brake Weight Per Slope

- Material TPU . Remark
Qty =15" 1 6=2.0° | 6=2.5° | =3.0° | B=35"

- Weight 0.035kg Iset(2ea) | 32kg | 25kg | 6kg | 4kg | 2.5kg | Roller Load

- Q'ty/Box 120pcs 2set(4ea) - 32kg 12kg 9kg 5kg =1.4Kgf/ea

Decelerator

—

Patent Pend g

- Brake Range : 10Kgf

- Q'ty/Box : 6set % ACA-308B is sold basically % Sold separately
Part No. ACA-308A ACA-308B ACA-308C W-50 W-60 W-70
ngght Size @ 50 @ 60 @ 70 @ 50 (750) @ 60 (110g) @ 70 (1489)

Weight (g/Set) 7949 8649 9409
Torque (gf. cm) 160~180gf.cm 283 gf.cm 380~400gf.cm

APPLICATIONS OF DECELERATOR
<STS & Coated Pipe (228)>

<Aluminum Pipe>

SYOVUL ¥3TI0N

79



ROLLER TRACK CAP ROLLER TRACK CAP

Unit : mm

PRC-25A Roller Track Cap Roller Track Cap

|
- Material ABS ﬂ| - Material ABS { ;1_
. . i
- Qty/Box 1,500pcs a1 - Qty/Box 600pcs il
PRC-25A
For AL Body 25 Series Silent Roller For Gl Body 60 Series Standard Roller

g Roller Track Cap Roller Track Cap §
: 3
2 - 2
o - Material ABS & - Material ABS @ 5
- Weight 0.004kg # = *?.L. - Weight 0.006kg %] ;
- Q'ty/Box 1,000pcs I - Q'ty/Box 600pcs

For Universal Roller UR-6067

PRC-60B Roller Track Cap

For 35 Series Standard Roller

Roller Track Cap

- Material ABS - Material ABS ?
- Weight 0.005kg | - Weight 0.006kg B0
|
1
- Q'ty/Box 1,000pcs - s iy - Q'ty/Box 600pcs
NLIN
For 40 Series Standard Roller PRC-40 For AL Body 60 Series Silent Roller
Roller Track Cap PRC-60G Roller Track Cap
-
- Material ABS 2 - Material ABS ? a
- Weight 0.005kg - Weight 0.006kg | 0
- Q'ty/Box 1,000pcs | a0 | - Q'ty/Box 600pCs E
For AL Body40 Series Silent Roller For Gl Body 60 Series Silent Roller
PRC-40G Roller Track Cap PRC-85A Roller Track Cap
Jd
- Material ABS o - Material ABS I’ 3} Fﬁ
- Weight 0.005kg [ - Weight 0.006kg 45 3 ! !
- Q'ty/Box 1,000pcs _ W - Q'ty/Box 600pcs . 11i_

PRC-85A

For GI Body 40 Series Silent Roller For AL Body 85 Series Silent Roller
80 81



ROLLER TRACK CAP ROLLER MOUNTING BRACKETS

ROLLER TRACK MOUNTING BRACKET (25 SERIES)

Unit : mm
PRC-85G Roller Track Cap Roller Mountung Bracket
4 : % =
"i EI | - E—- _ﬂ-_ll.-;.-l-'.'. A, {3
- Material ABS - Material Steel | s ¢ Tl
. . . o%l
- Weight 0.010kg - Weight 0.082kg FE -. ?.-T.i.- -.-t L ’iﬁ%
- Q'ty/Box 400pcs - Q'ty/Box 90pcs :'LE- .1. vl : b m_ﬂ.@
Recycle Roller 85 Series for Gl Body "I':" E

< A
S o
5 PRC-100A Roller Track Cap Roller Mountung Bracket / Tab Stop IEI
ln_: — A
| =
| S £y 3
- — —x — —
= O | S
m ) ) l\.. - m
- Material ABS E- Ial E - Material Steel - ’S:}‘%
2k , O . p
- Weight 00Tkg 103 3 {| - Weight 0096kg A H_ N S ¥
1 L - T . e
- Q'ty/Box 400pcs 1o - Qty/Box 60pcs Eﬁl |@— — Eﬁ
i ————
e
Recycle Roller 100 Series for AL Body PRC-100A =

.
l—!—*'—"iﬂ—. =
w | E | | |
— B -
- Material Steel 3 l?t‘; S
P i, - #El'-"f
B = fax %
|

- Weight 0.057kg

| — - < ! -’ )
- Q'ty/Box 120pcs SE @_ I::L-" x ._5__3

82 83



ROLLER MOUNTING BRACKETS ROLLER MOUNTING BRACKETS

ROLLER TRACK MOUNTING BRACKET (35 SERIES)

Unit : mm

GP-C35 Roller Track Union

GP-A35 Roller Mountung Bracket

. T
o BT, |
/}J ﬂ‘l- j _' il | B i 2 &
J_'_.._FEE.—'E—-'— —=
\ _,,J'f - Material Steel LS - Material Steel
"
0 A  Weight 0.0Tikg o moa— - Weight 0.148kg 2
L5 I R R -
K - Q'ty/Box 80pcs %{:‘:Eﬁ ____t.':"__"'{ ."'..":'h'.;”m - Q'ty/Box 60pcs A
D : ]
ES GP-B35 Roller Mountung Bracket / Tap Stop Roller Mounting Bracket / Drop Stop (=]
=
— ‘-
i f —
g =R || 2
5' I 1 S—_— 2
o (1334
o= - Material Steel - Material Steel G2 i "'ﬁi e
Weight k Weight 0130k A I | |
- Wei 0.032 - Wei ) o, O Y [N
- Q'ty/Box 60pcs - Q'ty/Box 70pcs & [P w0
GP-B35-33 Roller Mountung Bracket / Tap Stop Roller Mounting Bracket / Center Support
GP-B35-33 = —
q1 i
- Material Steel - Material Steel Cm
- Weight 0132kg - Weight 0.064kg e T
- Q'ty/Box 60pcs - Q'ty/Box 120pcs O
For AL Body 85 Series Silent Roller I:d“ !
GP-B35-1 Roller Mountung Bracket / Tap Stop Roller Mounting Bracket / Center Support
- Material Steel - Material Steel
- Q'ty/Box 70pcs - Qty/Box 60pcs
GP-B35-1-33 Roller Mountung Bracket / Tap Stop GP-HN35 Roller Track Union
y
- Material Steel "( &/ - Material Steel
- Weight 0.132kg s - Weight 0.175kg
- Q'ty/Box 60pcs . - Qty/Box 35pcs
Bracket for assembling on the Joint
84 85



ROLLER TRACKS

86

ROLLER MOUNTING BRACKETS

GP-M35 Roller Mounting Bracket

- Material Steel
- Weight 0.210kg

- Q'ty/Box 30pcs

- Material Steel
- Weight 0.190kg
- Q'ty/Box 45pcs

Roller Track amgle can be changed

ROLLER MOUNTING BRACKETS

ROLLER TRACK MOUNTING BRACKET (40 SERIES)

Roller Mountung Bracket

- Material Steel
- Weight 0141kg
- Qty/Box 80pcs
GP-A33 Roller Mountung Bracket
L oe 3
i 4 | Ii.-_."l- —
] b : ===

# - Material Steel
- Weight 0.142kg . ——
- Q" Wafr, 0T WY
Q'ty/Box 60pcs 4R e

Roller Mountung Bracket

- Material Steel
- Weight 0.124kg
T T R
- Q'ty/Box 80pcs r::l. B o LT
Bracket for 30X30 Profile ¥ s E _' _:-
i = ey m e

Roller Mountung Bracket / Tap Stop

- Material
- Weight

- Q'ty/Box

Steel
0.157kg

60pcs

Roller Mountung Bracket / Tap Stop

- Material
- Weight

- Q'ty/Box

H i
L] | i
i =
Steel
3}
0173kg W
50pcs 2 d = 1?_1._.-:._1_1:.

Surface Treatment-WZ

SYOVUL ¥3TI0N

87



ROLLER TRACKS

88

ROLLER MOUNTING BRACKETS

Roller Mountung Bracket / Tap Stop

- Material Steel
- Weight 0.174kg

- Q'ty/Box 50pcs

Surface Treatment-WZ
Unit: mm

GP-B-1-33 Roller Mountung Bracket / Tap Stop
o
- Material Steel
#  Weight 0.174kg
- Q'ty/Box 40pcs
GP-C Roller Track Union
- Material Steel
- Weight 0.121kg
- Q'ty/Box 80pcs

- Material Steel
- Weight 0.170kg
- Q'ty/Box 40pcs

GP-C-1-33 Roller Track Union / Center Support

- Material Steel
- Weight 0.170kg
- Q'ty/Box 32pcs

®
T Bl B P T

Lo
Ea | Rppe— 2
.

ROLLER MOUNTING BRACKETS

Roller Track Union

- Material Steel

- Weight 0.232kg
i |

- Qty/Box 36pcs

GP-DF Roller Mounting Bracket / Drop Stop

" R
'_-ilf_' T .._.'.

TITTTTI LT § LT LT T '_.-'

Surface Treatment-WZ
Unit i mm

f
-

- Material Steel
- Weight 0.194kg
- Q'ty/Box 50pcs

Roller Mounting Bracket / Drop Stop

- Material Steel
- Weight 0.220kg
- Q'ty/Box 30pcs

Bracket for 40X40 Profile

Roller Mounting Bracket

g e, o |
el = ! 'r‘_ B i
g 'd_.-" 'L l i
) == '-‘_' - .
“'-.. .‘1__,- - & | - Material Steel
e . =T —
- Weight 0.194kg FOE] i T {
K o
- Q'ty/Box 50pcs | i I b
E AT} | -
GP-DN Roller Mounting Bracket / Drop Stop
¥ --I
- Material Steel ! |
- Weight 0.160kg o
E e
- Q'ty/Box 70pcs oz,
| 28 |

]

SYOVUL ¥3TI0N

89



ROLLER TRACKS

90

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit : mm

GP-DN33 Roller Mounting Bracket / Drop Stop

II
{%ﬁ
=5 3 - Material Steel gt
= M Weight 0165k
. 165kg =
- “|?| ]
- Q'ty/Box

70pcs K]
| T
\ Bracket for assembling on the Joint =

Roller Mounting Bracket / Center Support

- Material

Steel

- Weight 0.079kg

- Q'ty/Box 100pcs

Roller Mounting Bracket / Center Support

- Material Steel 3 o
. =4m -\.\_\
- Weight 0.085kg g NPT I:} b o
1t B -
- Q'ty/Box 100pcs LF '_"t'r1 =d
4=,
E e’

Roller Mounting Bracket / Center Support

- Material Steel

- Weight 0.217kg g
i

- Q'ty/Box 20pcs [

- Material Steel
- Weight 0.107kg
- Q'ty/Box 70pcs

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit : mm

‘\‘3\ GP-EW-33 Roller Mounting Bracket
& ===~

ol

- Material Steel 1
ot

- Weight 0.115kg B

- Q'ty/Box 70pcs l ;‘;.L_ [

Roller Mounting Bracket

3
- Material Steel " 14
- Weight 0.175kg A ;
- Q'ty/Box 50pcs 4

GP-F-33 Roller Mounting Bracket

- Material Steel
- Weight 0.190kg
- Q'ty/Box 36pcs

Bracket for assembling on the Joint

Roller Mounting Bracket

d
4 - Material Steel
- Weight 0.200kg
- Q'ty/Box 50pcs

Bracket for 40X40 Profile

Roller Mounting Bracket

- Material Steel
- Weight 0.200kg
- Q'ty/Box 50pcs

Installation Location can be changed
easily by using Bolt

SYOVUL ¥3TI0N

91



ROLLER TRACKS

92

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit: mm

Roller Mounting Bracket / Tap Stop

- Material Steel

- Weight 0.200kg

- Qty/Box 42pcs

The installation location can be
changed easily by using Bolt

GP-G Roller Mounting Bracket / Tap Stop
& | ]
- Material Steel
- Weight 0.205kg
- Q'ty/Box 40pcs

Roller Mounting Bracket

- Material Steel
- Weight 0.220kg
- Q'ty/Box 30pcs

Bracket for assembling on the Joint

- Material

Steel [
- Weight 0.230kg = L
1@

_‘ . .
GP-HN Roller Track Union
< i i - ' .

!
L w M | | [ % |
e 0 S ) I _
\ }‘v‘*‘j’ - Material Steel '}}_;' 'fjig

- Weight 0.279kg

4
- Q'ty/Box 30pcs Ej b i) T LB B i
1

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit : mm

GP-HN-33 Roller Mounting Bracket

a

- Material Steel
£ - Weight 0.323kg
. ; - Qty/Box 30pcs

. mr | me | ;
V\‘S\ GP-HU Roller Mounting Bracket
W = =S .

) . & P
- Material Steel 1
Y - Weight 0.230k 7
; 9 g9 =
= / - Q'ty/Box 30pcs =

-

GP-HP

Roller Mounting Bracket

A S
. e

- Material Steel
] - Weight 0.215kg
#-:-r' - Q'ty/Box 24pcs

[

GP-HS Adjustable Roller to Slide Pipe Union

L]

- Material Steel ? =K

- Weight 0.200kg

- Q'ty/Box 40pcs |

The height of the 40 Series Roller and a8 =

- - Slide Pipe are the same.

GP-K Roller Mounting Bracket
o

- Material Steel

- Weight - r%
- Q'ty/Box - y

Bracket installs Slide Pipe at an angle
to the Roller

L ]

SYOVUL ¥3TI0N

93



ROLLER TRACKS

94

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit: mm

Roller Mounting Bracket

- Material Steel

- Weight 0.144kg

- Q'ty/Box 60pcs

Roller Mounting Bracket

- Material Steel

- Weight 0.150kg

- Q'ty/Box 60pcs

Bracket for assembling on the Joint

Roller Mounting Bracket

- Material Steel
- Weight 0.144kg
- Q'ty/Box 70pcs

Roller Mounting Bracket

- Material Steel

- Weight 0.150kg g = AETNEC Y

- Q'ty/Box 70pcs E:.. =

Bracket for assembling on the Joint g

- Material Steel = i
v
| & |
- Weight 0.180kg g: Ll A, s,
- Q'ty/Box 50pcs H _@L_ﬂ_

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ
Unit i mm

Roller Mounting Bracket

- Material Steel :“]_ il ——— S o r.'_,|
] . | [ == R % |
- Weight 0.239kg Ll k= s . ;
ik Lol

- Qty/Box 40pcs

GP-NA Roller Mounting Bracket
. "W - Material Steel
; .. - Weight 0100kg
- Q'ty/Box 80pcs
GP-NB Roller Mounting Bracket / Tap Stop
- Material Steel|
- Weight 0.129kg
- Q'ty/Box 60pcs

Absorber Mounting Bracket

- Material Steel
- Weight 0.107kg
- Qty/Box 70pcs

Bracket for Gas spring

GP-VA40 Roller Mounting Bracket

> . \ ”

- Material Steel ... F:"‘\:\\‘\‘

- Weight 0.220kg EF‘EE % \’ ~\\ \
o - Q'ty/Box 35pcs — K ‘ |
Hh“‘-u_ Roller Track angle can be changed g

SYOVUL ¥3TI0N

95



ROLLER MOUNTING BRACKETS ROLLER MOUNTING BRACKETS

Surface Treatment-WZ Surface Treatment-WZ
Unit: mm Unit i mm

Adjustable Roller Union Roller Mounting Bracket

! - Material Steel

- Weight 0.131kg

- Material Steel =

- Weight 0131kg a3

- Q'ty/Box 60pcs ;:B: et ’ I}
' =

- Q'ty/Box 60pcs

) : : :
S GP-12 Adjustable Roller Union GP-A60-33 Roller Mounting Bracket 3
e
&= P 5 m
— £ ]
o Pl . =
i . < 3 [F ] s z
— - - | (@]
o __-i" AN . H [ ] b
o - Material Steel - Material Steel e (7]
= P ' = : )
5 - Weight 0.096kg g - Weight 0164kg g —
- Q'ty/Box 180pcs . - Q'ty/Box 50pcs ﬁ W W
Insert GAP-08 to bridge a gap .ﬁml; .
GP-13 Adjustable Roller Union GP-APF60 Roller Mounting Bracket
.(_\ 523
--.‘-:\.
: . a
\ / - Material Steel - Material Steel ;.
- Weight 0.173kg - Weight 0.140kg
- Q'ty/Box 40pcs - Q'ty/Box 50pcs a :
Bracket for 40X40 Profile | m23 |
GP-14 Adjustable Roller Union Roller Mounting Bracket / Tap Stop
L8 ]
. N || : T ¥ -I.I-
IL'\. g | |
- | I

- Material Steel - Material Steel -

- Weight 0.096kg - Weight 0250kg TR )

- Q'ty/Box 140pcs - Q'ty/Box 30pcs

GP-B60-33 Roller Mounting Bracket / Tap Stop

- Material Steel

- Weight 0.140kg T

- Q'ty/Box 50pcs Ei [. ; | e
Insert GAP-08 to bridge a gap =L

96 97



ROLLER MOUNTING BRACKETS ROLLER MOUNTING BRACKETS

Surface Treatment-WZ Surface Treatment-WZ
Unit: mm Unit : mm

Roller Mounting Bracket / Center Support

{1

GP-B60-1 Roller Mounting Bracket / Tap Stop

E{

w,

- Material Steel - Material Steel
A - Weight 0.220kg - Weight 0.095kg iy
[ B 2o e
- Q'ty/Box 30pcs - Q'ty/Box 100pcs ﬂ?.. = i
'y
(72) : : 2
i GP-CN60 Roller Track Union GP-E60-33 Roller Mounting Bracket / Center Support (=]
=
é “'-. S— e ! ko =
& T T i 3
L o | ] £
= | o
8 I_',,-l"' 1 =
- Material Steel - Material Steel 2
- Weight 0.168kg - Weight 0.095kg -
o ey
- Q'ty/Box 68pcs - Q'ty/Box 80pcs ;% =
Insert GAP-08 fto bridge a gap -
GP-D60 Roller Mounting Bracket / Drop Stop GP-EN60 Roller Track Union / Center Support
1 = )
- - =
b e
; \ i
& 5
\}", 4
i > - Material Steel » - Material Steel
- Weight 0.205kg - Weight 0.158kg
- Q'ty/Box 40pcs r" - Q'ty/Box 20pcs
GP-D60-33 Roller Mounting Bracket / Drop Stop GP-EH60 Roller Mounting Bracket / Center Support
" | d n- 1
|
- = §
\ o ﬁ - Material Steel -
\ " - - Material Steel \ - Weight 0.175kg
@5  Weight 0205kg \ ~Qty/Box 50pcs FEERsEs:
- Qty/Box 40pcs 5 e Bracket for adjusting Roller height of 1 ﬂ {::i_i_

the 60 Series as well as the 40 series i

Insert GAP-08 to bridge a gap

GP-DF60J Roller Mounting Bracket GP-FC60 Roller Mounting Bracket
[n |
$
. - Material Steel
- Material Steel =i - Weight 0.168kg
- Weight 0.174kg - - Q'ty/Box 50pcs

Installation location can be changed

sy
- Q'ty/Box 40pcs AT I
easily by using Bolt

98 99




ROLLER MOUNTING BRACKETS

Roller Mounting Union

Surface Treatment-WZ
Unit: mm

- Material

- Weight

- Q'ty/Box

Steel

0.254

35pcs

Roller Mounting Bracket

ROLLER TRACKS

- Material

- Weight

- Q'ty/Box

Steel
0187

30pcs

Roller Mounting Bracket

==L —
2 1
N NN -
- Material Steel
i a e
- Weight 0.187 R v
bt
- Q'ty/Box 30pcs =
|
Roller Mounting Bracket
=l —
[
- Material Steel
. i R
. Welght 0.187 | S s
g Em———
0 B i
Q'ty/Box 30pcs .! {_—:]
Insert GAP-08 to bridge a gap 7
GP-L60WB Roller Mounting Bracket / Tap Stop
‘1"-.,. - Material Steel
b\
) - - Weight 0.220
- Q'ty/Box 40pcs

100

ROLLER MOUNTING BRACKETS

Surface Treatment-WZ

Unit : mm
GP-M60 Roller Mounting Bracket
- Material Steel e =
. R E | %,
- Weight 0.280kg ‘i I L
| | it
- Qty/Box 30pcs .
e
i ra - i =]
""" e D A FAl o
SRR ] ]

SYOVUL ¥3TI0N

101



ROLLER MOUNTING BRACKETS ROLLER MOUNTING BRACKETS

ROLLER TRACK MOUNT'NG BRACKET (85 SERlES) Surface Treatment-WZ Surface Treatment-WZ

Unit : mm Unit i mm

Roller Mountung Bracket GP-B85-33 Roller Mounting Bracket / Tap Stop

- Material Steel - Material Steel

- Weight 0.205kg - Weight 0.300kg
- Qty/Box 40pcs [ 3T - Q'ty/Box 20pcs

Insert GAP-08 to bridge a gap

wn : 2
5 GP-A85-33 Roller Mountung Bracket GP-B85-1 Roller Mounting Bracket / Tap Stop (=]
=
é ~ A 13 m
|n_: r \T/ - GP-B85-1 ;_U|
m _‘ 1 W
6I L l - | ¥ g Q
W | T Qs P
&= il Steel L] J————— - Material Steel ! K > 7
/‘ - Weight 0.205kg o [ g - Weight 0.318kg :
- Qty/Box 40pcs %EFEE_ - Q'ty/Box 20pcs
Insert GAP-08 to bridge a gap E' 4
GP-ANS5 Roller Mountung Bracket / Drop Stop GP-B85-1-33 Roller Mounting Bracket / Tap Stop
-
- =
' - Material Steel |
. - Materia Steel
. /_‘ - Weight 0.253kg Weight 0318k
. 318kg
- Q'ty/Box 40pcs Q'ty/Box 15
: cs
. The height of Bracket is the same as P
the Roller Insert GAP-08 to bridge a gap

Roller Mountung Bracket / Tap Stop

GP-B85-2 Roller Mounting Bracket / Tap Stop

™ E () &
i Hi=h | F .
1] | |4
AE— —= =y
- Material Steel Li - Material Steel
- Weight 0300g L] E— 0300k
- Q'ty/Box 40pcs E_II ; .E:E{m_ B - Qty/Box 20pcs
.I!' - ——t—|
‘@9 GP-B85-N Roller Mountung Bracket GP-C85 Roller Track Union
! Pl 1 )
{0 T
i I_-"-' | | 1
- Material Steel - Material Steel i
ﬁ:
- Weight 0.170g “l == = - Weight 0.140kg 4 n-:"?""'n. :
L gt S — p‘i‘ LT T AT
> CiEpIE 40pcs & - Qty/Box 70pcs s
[*R] = -

102 103



ROLLER MOUNTING BRACKETS ROLLER MOUNTING BRACKETS

ROLLER TRACKS

104

GP-C85-1 Roller Track Union / Center Support

&

Surface Treatment-WZ Surface Treatment-WZ
Unit: mm Unit i mm

GP-L85W Roller Mounting Bracket

- Material

- Weight

o “ - Q'ty/Box
I'"'-.

Roller Mounting Bracket / Drop Stop

- Material
- Weight

- Q'ty/Box

Roller Mounting Bracket / Center Support

Steel - Material Steel
0243k - Weight 0264k g
243kg ; 9 204Kg Bl
20pcs LA - Q'ty/Box 24pcs EF‘. ?
=l e
" -
Roll [ ot
oller Mounting Bracket (=]
y %
o —
» H £
()
} X
Steel i - Material Steel G
=N
0.235kg - Weight 0.265kg i e
30pcs - Q'ty/Box 24pcs i :*F
o

Insert GAP-08 to bridge a gap

GP-M85 Roller Mounting Bracket

P, -
R -
_,.ll"" - Material

- Material Steel 'L' 1 : Steel
o -
- Weight 0.124kg S E s Wil - Weight 0.410kg
- Q'ty/Box 80pcs - Q'ty/Box 20pcs
GP-E85-33 Roller Mounting Bracket / Center Support GP-M85-33 Roller Mounting Bracket
128
R |
W I B
- i |
N “__ |
- Material Steel ' [ - Material Steel
- P
:|. P - Weight 0124kg - Weight 0.442kg

. - Q'ty/Box

- Q'ty/Box 20pcs

I .I:. u II : 1 g
" : 60pcs u ; '_ﬁ_ ! |11-E GP-Mg5-33
i Insert GAP-08 to bridge a gap e : Insert GAP-08 to bridge a gap

GP-ENS85 Roller Track Union / Center Support

- Material
- Weight

- Q'ty/Box

Steel
0.414kg

12pcs

105



SLIDE PIPE MOUNTING BRACKETS SLIDE PIPE MOUNTING BRACKETS

Surface Treatment-WZ Surface Treatment-WZ
Unit: mm Unit i mm

Slide Pipe Mount GS-B33-1 Slide Pipe Mount / Tap Stop

P GS-B-1-33

- Material Steel ! - Material Steel
k|
- Weight 0106kg i I i - Weight 0.116kg
. - -
- Q'ty/Box 100pcs 5 E e _E;..—] - Q'ty/Box 50pcs
iy
7 ) . : : : =
- o
i Slide Pipe Mount GS-C Slide Pipe Mount Guide Bracket ()
-
é =T i g
o | . —— —
ﬂ r - =l g
= A =5 - 5
o 1 i X
o - Material Steel R i | ; g - Material Steel G
Weight 0,106k : \ I'/d Weight 0.085k
" VWelg -106kg o g i e - Weig . g
ﬂf == "
- Q'ty/Box 80pcs __tﬂ: ;J - Qty/Box 80pcs
Slide Pipe Mount / Tap Stop GS-D Slide Pipe Mount / Drop Stop
P lom
.' | O S | g
[ ==
- Material Steel L= | i - Material Steel
- Weight 0.130kg - - - Weight 0.M6kg
, I ,
- Q'ty/Box 70pcs e - Q'ty/Box 80pcs
LE-_::L
Slide Pipe Mount / Tap Stop Slide Pipe Mount / Drop Stop
e
] = -
==
- Material Steel ;._,'r_i 1 - Material Steel
- Weight 0.130kg i - Weight 0.160kg
I -
- Q'ty/Box 70pcs =T - Q'ty/Box 80pcs
Lol | oN |
Slide Pipe Mount / Tap Stop Slide Pipe Mount Guide Bracket
| 120
=y - -
: :_.'!&l,._ o |- ] | E
al iy ———_
i | 1
1 Il |
% - Material Steel (2 - Material Steel k=
5 - Weight 0M6kg - Weight 0.160kg J =1 g |
. - | ]
I:H: i 3
- Q'ty/Box 70pcs L3 - Q'ty/Box 30pcs o T 4
P b, p N i -

106 107



SLIDE PIPE MOUNTING BRACKETS

BOX GUIDE

Box Guide Mount Bracket

- Material

- Weight

- Q'ty/Box

Steel

0.150kg

36pcs

Surface Treatment-WZ
Unit: mm

Box Guide

Unit : mm

- Material

- Length

- Weight

pvC

3,000mm -l':_h (‘JI

172
x .
g Box Guide
-
&
= .
8 GS-F40 Box Guide Mount Bracket
- Material PVC
i
am - Length 3,000mm
. PP 4 == |
i -‘f E f’ E == - Weight 0.570kg/m
" g’ - Material Steel | e i -
A L g . :
- Weight 0.180kg :
iy e RG-35B Box Guide
= - Q'ty/Box 36pcs | i &1
o ]
l_: . |
= )
&
= o !
~s —— - Material pPVC
- Length 3,000mm
GS-HP Slide Pipe Mount - Weight 0.860kg/m
P
_ | Box Guide
: T]' ...._I..._. 'I':'___l
- Material Steel = |
) { ]l
- Weight 0.155kg J 3' 'I -I' o
- Q'ty/Box 50pcs ] T e | - Material PVC
- Length 3,000mm
- Weight 0.500kg/m
GS-1M Adjustable Silide Pipe Union Box Guide
1
— o 2
— — - — “ 1 !"_L- i
5 =l | ]
- Material Steel - Material pPVC & '-‘E
_.Iﬁ. 3 ok, J
- Weight 0.073kg g EI o A w - Length 3,000mm ; T
e
- Q'ty/Box 150pcs e = )| - Weight 0.970kg/m o .

108

SYOVUL ¥3TI0N

109



BOX GUIDE BOX GUIDE

Unit : mm

Sheet Guide

RG-40B40 Box Guide
= RG-40B40

i
k. ’ - Material PVC - Material PVC

> -Length 3,000mm

- Length 3,000mm

Board Panel

- Weight 1400kg/m - Weight 0.740kg/m

Use 5mm thickness board panel

s : : e
S Box Guide Sheet Guide (@]
e

£ ! =
- P Y A
oc —
= ! 32 £
6' h s (@]
= ; = 7y
> - Material PVC - ﬂ" L5 - Material PVC e

-t
- Length 3,000mm I - Length 3,000mm
F - Weight 1700kg/m o7 — - Weight 0.490kg/m
Board Panel
j" Use 5mm thickness board panel
Box Guide CD-28C Cable Duct

| =
- Material PVC = - Material PVC
- Length 3,000mm E -Length 3,000mm %_2;
- Weight 0.570kg/m - Weight 0.260kg/m
Box Guide CD-28D Cable Duct
g
RG-40E 278
CD-28D
i - Material PVC - Material PVC EL
- Length 3,000mm - Length 3,000mm
- Weight 0.860kg/m - Weight 0.220kg/m -
Box Guide Dust Plate
4
DP-A
- Material PVC - Material PVC = E 4
- Length 3,000mm - Length 3,000mm P GAP-37
- Weight 0.450kg/m - Weight 0.360kg/m

Board Panel

110 111



BOX GUIDE BOX GUIDE

Unit : mm

& AHRG-35B Box Guide - ESD

ARG-35C Box Guide - ESD

| B AHRG-35B — ARG=35C
r_r —— '__.-[
i | E oy ME
- Material Aluminum = [ - Material Aluminum & I-_l
e . A |
- Length 4,000mm | = . - Length 4,000mm A
4 | 51 { :lﬂ} |
- Weight 108kg/m 1 - Weight 052kg/m &7
3 9 9 L s | B
L > - Guide - ESD 8
S & AHRG-40B Box Guide - ESD Box Guide - =
m
583 -
E g -2 aptd , R ARG-40A ’_U|
—ie—————t—i
& 5
o) 7
oz - Material Aluminum - Material Aluminum
- Length 4,000mm - Length 4,000mm
. - Weight 185kg/m ' 2 ' I X - Weight 0.53kg/m
| (IS
&‘9 AHRG-60B Box Guide - ESD ARG-4030BL Box Guide - ESD
452 24 ARG-4030BL
—— 452 _ &4 _ ¥
J.'.. I 1 j ﬁ P
] ' o . il B
- 3 o’ 5 e
- Material Aluminum B - Material Aluminum = 2L
[} ]
-Length 4,000mm | | - Length 4,000mm &
- Weight 118kg/m [ - Weight 0.87kg/m al
ARG-35B Box Guide - ESD ARG-4032AN Box Guide - ESD
ﬂ -..r-'l,lr: f_‘__,.:"
. . L
- Material Aluminum - - Material Aluminum = |
- Length 4,000mm | - Length 4,000mm Is
- Weight 0.79kg/m [ - Weight 0.67kg/m _l a |
- Box Guide - ESD :
ARG-35BN < ARG-4032BN Box Guide - ESD
. 18.5 ARG-4032BN
' [
\ )
-
LS - - Material Aluminum .
A \r - Material Aluminum
- Length 4,000mm
- Length 4,000mm
- Weight 0.81kg/m )
= = - Weight 0.63kg/m

112 7 113



BOX GUIDE BOX GUIDE

Unit : mm

ARG-4035BS Box Guide - ESD (For GP-4035BS) ARG-60C Box Guide - ESD

ARG-4035BS = - . s ARG-60C

i g;l el GP-4035BS
| Wb
| __'_' et - : g
- Material Aluminum b 14 _'11 - Material Aluminum
1
- Length 4,000mm l l;E|1 - Length 4,000mm
- Weight 082kg/m L4 - Weight 0.59kg/m
(2] : )
i ARG-4045B Box Guide - ESD ASG-28A Box Guide - ESD CF>
= - _ m
é ; ’ = ARG-4045B Ll
o y o
i d 5
o ; 3 P
. . . 7
o "‘ 4 - Material Aluminum n /‘, - Material Aluminum
i i
-Length 4,000mm iy - Length 4,000mm
- Weight 0.91kg/m - Weight 0.380kg/m

O

& ASG-28B Box Guide - ESD

A Box Guide - ESD

ARG-40C
XEH
_I I
- Material Aluminum E o - Material Aluminum
' L33
-Length 4,000mm £ -Length 4,000mm
- Weight 0.62kg/m - Weight 0.82kg/m
41
i ‘39 Box Guide - ESD
ARG-40D Box Guide - ESD <& ASG-28C ox Guide -
i
=
I.q . .
- Material Aluminum B - Material Aluminum
- Length 4,000mm L E - Length 4,000mm
- Weight 0.52kg/m — it ) - Weight 0.71kg/m
ARG-40F Box Guide - ESD
A L e
T |:'-
- Material Aluminum B oL \_pe
- Length 4,000mm \ E
- Weight 11kg/m 3 I
| [

114 115



BOX GUIDE CAP BOX STOPPER

EWS-() WORK STOPPER

Unit : mm
ASC-V30 Vertical Safety Cap STANDARD TYPE [Material-STS] Part No | Material Model Roller | Weight Q'ty/BOX
—— - ,—F ASC-V30 4 EWS-A GP4036A/40368 5 0.056kg 240pcs
158 EWS-B GP4050C 4 0.041kg 300pcs
9’- i EWS-C GP8550B 4 0.136kg 70pcs
EWS-D GP4050D 4 0.061kg 160pcs
. Material ABS EWS-E GP3533B 5 0.036kg 320pcs
EWS-F GP6033B 5 0.085kg 170pcs
- Weight 0001kg EWS-F2 STS GP6033B 2 0.046kg 110pcs
EWS-G GP4040A/B 4 0.085kg 240pcs
- Q'ty/Box 6,000 EA EWS-G2 GP4040A/B 2 0.036kg 140pcs
Patented EWS-H GP7040B/8540L 5 0.130kg 120pcs
T EWS-J GP6016S 10 0.078kg 200pcs
A i A
5 Asc_v45 Vertlcal Safety Cap EWS-J2 GP6016S 5 0,0SOkg 250pcs o
§ 5 EWS-K GP8543B/HA 4 0.140kg 90pcs =
- L g
ﬁ ‘ SPECIAL TYPE [Material-STS] PartNo |Material Model Roller | Weight Q'ty/BOX §
— -
o EWS-AN GP4036A/4036B 5 0.086kg 250pcs €2
- Material ABS n
EWS-GN2 GP4036A/B 2 0.019kg 200pcs
- Weight 0.002kg EWS-GN STS GP4040A/B 4 0.056kg 250pcs
- Q'ty/Box 4,000 EA EWS-MN GPR8545B/HA 4 0.155kg 30pcs
Patented
EWS-PN GPR2528 4 0.023kg 410pcs
ASC-H42R Horizontal Safety Cap
Part No Material Model Roller Weight (017/2]0):¢
j EWSR4040 GPR4040A/B 2 0.016kg 200pcs
\ ‘ v,.-r"' / EWS6016 GPR6016S 4 0.018kg 200pcs
k . e - A
- Material ABS Ty “M_’ 4 \ d - EWS6033 STS GPR6033B/HA 2 0.021kg 200pcs
F
- Weight 0.002kg i ~ EWS8523 GPR8523S 4 0.046kg 200pcs
- Q'ty/Box 4,000 EA ﬂbl EWS8545 GPR8545B/HA 2 0.059kg 72pcs
Patented
ASC-H42L Horizontal Safety Cap
e ASC-H42L
Temporary stoping the flowing Boxes Stopping or deceleratng the fast flowing Boxes
423
= L.
- Material ABS - % = y .
N S = .
- Weight 0.002kg nh | |- | |
vl |
- Q'ty/Box 4,000 EA | e Fo— 2 5 1

Patented

S mnton AENT R e aata |

116 117



BOX STOPPER BOX STOPPER

Surface Treatment - WZ Unit : mm

Box Stopper MCY-A301-R One Touch Stopper - Right

| L
v 1t 1 1 ] -
1 IR S & i’ |_:{_~ Material Steel
| | | | ) . )
1. of Bt T 1 f"l:’ Weight 0270 kg
1 -4 R L ¥ il ,
l.' =ty I e __E gﬁ_ .L.\_"" —=—xn | | | P - Q'ty/Box 36pcs
! . | |
- ey _EE . - . ——— ! |

” e ||| (18 2
E‘J - Material Steel L ": '] _.: .9
-
é - Weight 178 kg Roopat OFF m
i —
g - Q'ty/Box 8 pcs §
< o
m ——————— 5
= - =
h-‘r.;_, ETE
T | o
7T o 1Y
MCY-E301 One Touch Stopper - Left
7 | |
= | Sermrey |l. ' lll!"" - Material Steel
E.\E %iﬁié%%!gk! - Weight 0.270 kg
]
P - Q'ty/Box 36pcs
]
- Material Steel a
- Weight 0105 kg
o% o
Q'ty/Box 60 pcs _. .i_
I'F.qm. AT AR T T3S :
('L" Type)
118 119



BOX STOPPER

Surface Treatment - WZ

MCY-305A Back Stopper Bracket

L0 gt [t
=i -
L
Materi i |
- Material Steel [ | i
| ; -
. o | ik [
- Weight 0.270 kg = B \ i
- Q'ty/Box 36pcs \ {
el 5
|22 e i
2] & goisms
(&]
é Wrench Boll{ME=15]
-
oc
(| :
— I
8 — |
' Biox

Stopping Backflow

QsS-28 Quick Stopper

- Material Steel e
' " - ] L
- Weight 0.370 kgv | O i—| |
I
- Q'ty/Box 18pcs

Stopper ON Stopper OFF

120

CASTERS

+ AL CASTER

- FASTENING RUBBER TYPE

-TOP PLATE TYPE

+ CASTER

-THREADED STEM TYPE

- GRIP RING TYPE

- FASTENING RUBBER TYPE

+ TOP PLATETYPE

FLOOR LOCK




Aluminum CASTER

Aluminum CASTER

CASTER NUMBERUNG SYSTEM

FA B
BT T T T R T

TOP PLATE TYPE CASTER FOR ALUMINUM RACK

FA : Fastening Rubber 30 2-2" S: Swivel 1: Soft Rubber B :Brake

PA : Top Plate Type 32 3-3” R:Rigid 2: Polyurethane(Red) DB : Double Brake
36 4-4” 3:Nylon S :Stainless
50 5-5" 4 : Rubber Plastic BS : STS Brake

5 : Polyurethane(Gray)
E:ESD

FASTENING RUBBER TYPE FOR AL UMINUM RACK

Wwheel i
FA363S-1 FA363S-1B

SWIVEL BRAKE RIGID (inch)

Plate Dimension(mm)

Wheel Material

1| |I PA503S-1 PA503S-1B PA503R-1 Soft Rubber 56 108
3
o Jl PA503S2  PA503S-2B A503R-2 Polyurethane 100
= LEs e | Plain
e i PA504S-1 PA504S-1B PA504R-1 Soft Rubber 75
< ] J. 4" 32 129 95X79 75X45
o PAS04S2  PA504S-2B PA504R-2 Polyurethane 105
PA505S-1 PA505S-1B PA505R-1 Soft Rubber 80
5 Ball 156
PA505S-2  PA505S-2B PA505R-2 Polyurethane 15
Part No. Wheel Dia i : PA503 / PAS04 | PAS05 Series : ESD is available
SWIVEL BRAKE RIGID (inch) ST kg
FA3025-1 FA3025-1B - 35 Wheel
FA3035-1 0 Plain
- FA303S-1B - 3 45 97
Soft Rubber Polyurethane(Red) Polyurethane(Gray)
Aluminum FA3635-1 FA3635-1B - Plain /Ball 45 95
Pipe 3"
& FA3635-4 FA3635-4B FA363R-4 . Ball 50 95
FA3645-1 FA3645-1B FA364R-2 Plain / Ball 55 123
e
FA364S-4 FA364S-4B FA364R-4 Ball 60 123
* FASTENING RUBBER TYPE : ESD is available
Bolt Specification : 1/2” X 13N - 57mm . . X
Remark Wheel Material  : Soft Rubber (Nomal) / ESD Soft Rubber FA : Fastening Rubber Aluminum Pipe
SWIVEL SWIVEL BRAKE
SWIVEL |_RIGID | N e
| __—PrFE - [ _—~PPFE
' BCAEW
Assembly | J l Assembly
i 1 —— Sl Cap R i
Drawing et B L e | 1.4 Drawing
:-'-F‘ < e . .y A f J ,
ol N [y P ol ALl i
e | T Sy
| & rio:2/ | N g i
122

123



CASTER CASTER

CASTER NUMBERUNG SYSTEM THREADED STEM TYPE
Design

KIS -
BT R T T ST

T :Thread 30 2-2" S : Swivel 1: Soft Rubber B :Brake
G :GripRing 32 25-25" R:Rigid 2: Polyurethane(Red) DB : Double Brake
FA : Fastening Rubber 36 oNad 3:Nylon S :Stainless
PA.:Top Plate Type . a:Rubber lastic BS:STS Brake . Gl || _tireaces
: Material Section Specifcation
60 4-4 5 : Polyurethane(Gray) SWIVEL BRAKE ESD mm<A>
62 6-6" E:ESD T503S-1 T503S-1B T503S-E . Soft Rubber 56
i 103
68 8-8” T503S-2 T503S-2B = Polyurethane 100
32 Ball Light 1"x12N-25L
T504S-1 T504S-1B T504S-E - Soft Rubber 75 12
T504S-2 T504S-2B - Polyurethane 100
THREADED STEM TYPE

Wheel
Design Soft Rubber Polyurethane(Gray) Polyurethane(Red) Polyurethane(Gray)

T302S-2 T302S-2B T363S-1 o @ @
é

Part No. I Wheel : @I Section Threaded

CASTER
¥31SVvI

GRIP RING TYPE

Swive s | o | e speciaton Design
T302S-1 T302S-1B T302S-E 2’ Soft Rubber 20 Plain 40 72 H
T3625S-1 T3625S-1B T3625S-E Soft Rubber Plain 85)
T3625S-2 T3625S-2B - 25" Polyurethane Ball 45 87
T3625S-4 T3625S-4B - Rubber Plastic Ball 40 Light 1"X12N-15L
T363S-1 T363S-1B T363S-E Soft Rubber 2 Plain 45
T363S-3 T363S-3B - 3.5” Nylon Plain 65 99
T363S-4 T363S-4B - Rubber Plastic Ball 55

Part No. i : @
I\X\é?eeﬁ;| - I Section Threaded
SWIVEL BRAKE RIGID Inch(mm) kg mm<A> Specifcation
Wheel 5 100

G813S-2 G813S-2B G813R-2 & Polyurethane 32 Plain 7 Light ®11 X 38mm
Soft Rubber Polyurethane Poluurethane Rubber Plastic Nylon

124 125

GAP-9C Coated Pipe ($28XT1.0)
GAP-9S STS/Eco Pipe (©28XT0.7)

Assembly : Pipe + GAP-9 + Grip Ring Caster




CASTER

CASTER

THREADED STEM TYPE TOP PLATE TYPE
Design FC/ FS3025-1 FC/ FS3025-1B FC/ FS302R-1 FC/ FS3635-4B Design
g | P3635-35 NN P5045-2 | P504S-2B P504R-2 P504S-2DB
= ol —— — -
- - r._qd- =
FC/ FS364S-4 FC/ FS364S-4B FC/FS364R-4 FCD/ FSD374S-1B
‘l ! Part No. ' : @I Plate Dimension(mm)
- , AT SWIVEL BRAKE  |DOUBLEBRAKE|  RIGID Material | = ‘nm kg mm
| P363S-3S . ) :
= < (All Stainless)
3 Nylon 25 Plain 65 95 70X60  55X42
P363S-3 ) . :
(Steel)
04 P503S-1 P503S-1B P503S-1DB P503R-1 Soft Rubber P503R-1 ')
= rartio. 8 @ I P503S-2 P503S-2B P503S-2DB P503R-2 % polyurethane PsosR2 04 5
(7)) SWIVEL BRAKE RIGID kg <A P5045-1 P504S-1B P504S-1DB P504R-1 Soft Rubber P504R-1 o |
< 4 32 Ball 129 95X64  75X45 m
(&) FC3025-1 FC302S-1B - 7 . - 35 72 P504S-2 P504S-2B P504S-2DB P504R-2 Polyurethane P504R-2 s
FC303S-1  FC303S-1B . 3 an 45 97 P505S-1 P505S-1B P505S-1DB P505R-1 o SotRubter PSSR
FC363S-1 FC363S-1B 2 . Plain / Ball 45 99 P505S-2 P505S-2B P505S-2DB P505R-2 Polyurethane P505R-2
. FC363S-4 FC363S-4B FC363R-4 Ball 50 99 *P503 / P504 / P505 Series : ESD is available
Coated Pipe 25 .
FC364S-1 FC364S-1B  FC364R-1 " Plain / Ball 55 123
FC364S-4  FC3645-4B  FC364R-4 Ball 60 123
FC503S-1 FC503S-1B : 2l . - 56 104 Wheel
alin
FC504S-2  FC504S-2B - & 85 129
S e ) T = B = T Soft Rubber Polyurethane(Gray) Polyurethane(Red) Polyurethane(Gray)
FS3025-1 FS3025-1B  FS302R-1 P . Plain 35 72
FS3035-1 FS303S-1B  FS303R-1 3 Plain 45 97
FS3635-1 FS363S-1B : . Plain / Ball 45 99
FS363S-4  FS3635-4B  FS363R-4 e Ball 50 99
STS/ECO Pipe FS364S-1  FS364S-1B  FS364R-1 . Plain / Ball 55 123 e
FS364S-4  FS364S-4B  FS364R-4 Ball 60 123
FS503S-1 FS503S-1B 2 g , 56 104
32 Plain
- - FS504R-2 & 85 129
FSD374S-1  FSD374S-1B : 4 20 Disc 55 124
* FASTENING RUBBER TYPE : ESD is available
o FC : Fastening Rubber-Coated Pipe (®28XT0.7 / T1.0)
Remark Wheel Material : Soft Rubber (Normal) / ESD Soft Rubber FS : Fastening Rubber-STS/Eco Pipe (928XT0.7 /T1.2)
SWIVEL o RIGID i
FRE | .
B
T —Faboer -
Assembly ——oa— = R Caip | ] =
Drawing i il (o
. ._. -3 .| .___ I :
i Tl b e e ! W §
| ot o |y
126 127



CASTER FLOOR LOCK

TOP PLATE TYPE FLOOR LOCK
Design
- -—
Q
-2

Design

KH200 Adjustment

[ KH200-6___
ST
:f o

if

»

&
J
, %)

P666S

P688S-2

Height Nifel Working Length Plate Bolt distance Bolt hole ]
? Item No. H K height H1 L p < B Caster height

KH-200-4 103

130~145 150 97X88 70X60 10 125~140

CASTER
¥31SVvI

: @I KH-200-5 120 27 147~172 150 97X88 70X60 10 145~165
ESD Materi KH-200-Stainless 160 45 205~230 195 120X120 85X85 10 188~220
P624S-2 P624S-2B P624R-2B 4" 220 136 KH-200-6 160 45 205~230 195 120X120 85X85 11 188~220
P625S-2 P625S-2B P625R-2B 5" Polyurethane 38 Roller 250 161 114X101 80X76 KH-200-8 210 40 250 195 120X120 85X85 11 240~245
P626S-2 P626S-2B P626R-2B 6” 250 191 * Please Referring the caster height to select the Floor Lock
P664S-2 P664S-2B P664R-2B 4" 320 143
P665S-2 P665S-2B P665R-2B 5" Polyurethane 50 Roller/Ball 360 165 114X101 80X76
P666S-2 P666S-2B P666R-2B 6" 360 187
P686S-2 P686S-2B P686R-2B 6" Polyurethane 50 Ball 360 200 159X114 125X62
P688S-2 P688S-2B P688R-2B 8” Polyurethane 50 Roller/Ball 400 248 159X114 125X62

* P686 Series : Shock Absorbing Caster SWIVEL

Wheel P.U / Cast Iron P.U / Cast Iron(B/B)

| P.U/CastlIron(B/B) | ' :
Simple s E 3 1 ! o
Drawing T E W piatl J
L &
]
o 35mm
E L3 b s e e e
Land
Attached Side

[SWIVEL BRAKE]

[SWIVEL] [RIGID]

Simple

Drawing

128 129



ACC ESSORI ES PIPE REST & PLUG

* Surface Treatment - WZ Unit : mm
GS-1250A End Snap Rest
‘ Lo ¥ : ; H'I o
- Material Steel - T
- Weight 0.100kg “ |‘I "~ ‘ ,-ﬁmﬁ: : ——" ; “ Q
- Q'ty/Box 90pcs LA-1 11

[Tension]
PIPE REST & PLUG
CASTER MOUNT &MOUNT CORNER UNIT =
(@)
FORK GUIDE & ASS’Y HAUL GS-1250B End Snap Rest o
(72
METAL CLAMP - S
c T GS-12508 =
-“_‘ M| s .. (7]
HOOK & HANGER & HANDLE | I
W - Material Steel ey [
# A P, |
METAL JOINT COVER ﬁY - Weight 0100kg o AL
it

TOOL HOLDER ;‘- - Qty/Box 90pcs
ASS'Y PULLEY
NAME PLATE & LABEL CASE
LEVELING FOOT

+ THREADED INSERT & CAP

PLASTIC CHANNEL

FRAME GUIDE

* FASTENERS

* HAND CUTTER

<Tension>

+ LIFTTABLE

* OTHERS
131



ACC ESSORI ES PIPE REST & PLUG ACC ESSORI ES PIPE REST & PLUG

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm
: Y :
HK28WA Pipe Rest & HK28WC Pipe Rest
- S ! : |
o g = '|: o |
P - A . H
Fr. I a4 L. {:i_: ggl [5:]_.1 HK28WC
- Material Steel "Eia"- ._r ; - Material Steel - o |L
Q . : bl
- Weight 0.094kg r ’? e . g O - Weight 0121kg - 1
] | B - R FRZINA, ¢ "
- Q'ty/Box 90pcs A 5 b ER L - Q'ty/Box 90pcs _."Q__J-Q_
1 | 1] i
TS )
o ﬁl %n
&, 5
o
GS-2070C Pipe Plug
- Material Steel
- Weight 0.120kg
GS-2070C
- Q'ty/Box 100pcs

Pipe Thickness Part No.

0.7 GS-2070C-C07
Coated 0.9 GS-2070C-C09
1.0 GS-2070C-C10
2.0 GS-2070C-C20
0.7 GS-2070C-S07

HK28WB Pipe Rest STS/ECCO | 0.9 | GS-2070C-S10

1.2 GS-2070C-S12

F - Material Steel

Door Open

Door Locking

Slide Pipe Plug

(7]
2
oc
o
72}
(73
Ll
(&)
o
<

S3140SS3IV

- Material Steel

- Weight 0.200kg N
= - Weight 0.124kg

%; - Qty/Box 70pcs

GS-2070D

- Q'ty/Box 90pcs 1 . =
Pipe | Thickness Part No. = A {
0.7 | GS-2070D-C07 ri et 4
Coated 0.9 - -F}"' - -|r.: |
1.0 - Smio ':
2.0 GS-2070D-C20 uy e
0.7 GS-2070D-S07 )
STS/ECCO 0.9 GS-2070D-S10 STS Pipe 0.7t

1.2 GS-2070D-S12

GS-2070E Slide Pipe Plug

'\-\.il""'
T

| = |
:-.I:I .
1

| eem

nll

T

- Material Steel
- Weight 0.069%g _
, -207
- Q'ty/Box 100pcs i 65-2070E
Pipe Thickness Part No.
0.7 -
Coated 0.9 GS-2070E-C09
1.0 -
2.0
0.7
STS/ECCO | 0.9
1.2

132 133



CASTER MOUNT &
MOUNT CORNER UNIT

ACCESSORIE

* Surface Treatment - WZ Unit : mm

Caster Mount Strap

1 Hex Bolt M8x45
Plain Washer M8

- Material Steel

- Weight 0102kg —

- Q'ty/Box 150pcs m i

Caster Mount Strap

i Hex Bolt M8x45
nnr___ ", i L] Plain Washer M8
R
f = o - Material Steel =
o - Weight 0107kg
- Q'ty/Box 120pcs
/; Qty p

CM-200K

Caster Mount Strap

5 d Hex Bolt M8x50
m LLE: - AR ...i"‘.l_..I L Plain Washer M8
& },ﬁfdﬁﬂ d
§ - Material Steel ':fg,
é‘ - Weight 0.107kg _ = b
- Q'ty/Box 120pcs r:l'lb__-__'llz_‘?-
& ' 3
Caster Mount Strap
B Hex Bolt M8x45

S
1
|

Plain Washer M8

"" "':\- =i 'l.," %
;;’-i% - Material Steel -
]
- Weight 0111kg f—-‘-——:_ .
- Q'ty/Box 100pcs — _'.L.! 4
4 P =
Caster Mount Strap
- ] K Ly Hex Bolt M8x55
l_ﬂT.l' - "H'I'u"' ﬁ inWasherM8

- Material Steel
-]
- Weight 0.150kg H t
, AV R .
- Q'ty/Box 100pcs L o I

134

ACCESSORIE

* Surface Treatment - WZ

CM-300

Applications of Caster Mount

CASTER MOUNT &
MOUNT CORNER UNIT

Caster Mount Strap

- Material Steel
- Weight 0.078kg
- Qty/Box 300pcs

Caster Mount Strap

- Material Steel
- Weight 013kg
- Q'ty/Box 120pcs

Unit : mm

Hex Bolt M8x45

Plain Washer M8

i
sl =
1- + ]
“E L ||
N || | R Hex Bolt M8x45

k]
T | /" Plain Washer M8

[A-001C or B-001]

S3140SS3IV

135



ACCESSORIES yiou corier tnm ACCESSORIES founroorierunr

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

MCP-B3-L Mount Corner Plate-Left

MCP-E Mount Corner Plate

L

- Material Steel % uf?ﬁ‘ - Material Steel

, - Weight 1478kg W] = E ‘i"ﬂ} - Weight 11okg

: - Q'ty/Box 12pcs J T g ? ‘?‘ s - Qty/Box 12pcs
o el o 3 R

- Material Steel - Material Steel

- Weight 1478kg - Weight 0.326kg

- Q'ty/Box 12pcs - Q'ty/Box 30pcs

Mount Center Plate s’
- = - JIH .
o S | = L >
i B e i o
oz | n
S n
% - Material Steel MCP-F-A/B Metal Corner Plate Con
_ A

= - Weight 128kg m
< - [

- Q'ty/Box 12pcs - i

-
| p—
W - Material Steel
Wi gﬂ "‘!, - Weight 0.260k
Corner Bumper e e g
- Qty/Box 40pcs

. - Material Steel icati
% _ﬂ Applications of MCP-G
ol > 4 - Weight 0.034kg
|
W - Q'ty/Box 150pcs CB-MCP

Nylon Nut(M4)

—

136 137



ACCESSORIES yiou corier tnm ACCESSORIES founroorierunr

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

MCP-HN-L Mount Corner Plate-Left BC45-A Base Corner

i : i - Material Steel - Material Steel
i
'*. - Weight 1.55kg . - Weight 1.85kg
- Q'ty/Box 12pcs e - Q'ty/Box 8pcs . -
Q
<& BC45-A2 Base Corner
w
i A
1 -'?'E_I'u:? --'Tﬂ-n—-urn- I:F
- Material Steel g |
- Material Steel - Weight 2135kg = B r |
- Weight 155kg - Q'ty/Box 8pcs :4] 1;mﬂ E:
I .J. -

s - Q'ty/Box 12pcs
.-:::-"I- P

Base Corner

a &
& L i
177]
§ MCP-KN Mount Corner Plate - Material Steel ] 3
o s =
O _aah - Weight 1170k A | e m
2 ’_LEE K _ 7]
PANEE - Q'ty/Box 16pcs -4
ol T
= . | i
sl {EE ® C45-C Base Corner
9 [[¢]2—%
.
. 126
- Material Steel 171 - Material Steel
- Weight 130kg - Weight 1.280kg

- Q'ty/Box 4pcs

7L
- Q'ty/Box 12pcs P A .-}:

s Y
|

Applications of Base Corner

138 hal 139



ACCESSORIES yiou corier tnm ACCESSORIES founroorierunr

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm
CS28L Corner Support CM-A Base Corner
I =
i Lopk Plain Washer M8 [ | -I ;
e :g |
rd LT A
b . = ¥ \H" 1
- Material Steel |L ..H_.:;' 1T i
1 .:'..L'_la--——
- Weight X L
9 0.100kg B
- Q'ty/Box 60pcs e,

Base Corner

- Material Steel 1
- Weight 0705kg _gi b | =
- Q'ty/Box 24pcs : TE |E 3
- Material Steel ’c!
CS28L Corner Support - Weight 0.071kg ol
- Q'ty/Box 60pcs =

g

E-5
ﬁ!r Plain Washer M8
%
o
% 8
o
o = - m
2 £ 2
[T : =
(&) - Material Steel 2
e — &
- Weight 0.750kg
ol
- Q'ty/Box 24pcs e
28 m Plain Washer M8
Nylon Nut M8
141

140



ACC ESSORI ES FORK GUIDE & ASS'Y HAUL ACC ESSORI ES FORK GUIDE & ASS'Y HAUL

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

FG-01 Fork Guide FG-04 Fork Guide

. I
_?t : —+— :_—?:_er' GM845W / NNO8W . _— -; ' 1 4y B GM845W / NNO8W
¥ { ‘ > 5 | l.I_ i
- ° |
| 5

e
big -l
i |
E_‘ == I == 1]
1 .
- Material Steel — | — 5 - Material Steel
2- .
- Weight 2.440kg l N - Weight 2300kg
- Qty/Box 2pcs %‘ A - Qty/Box 2pcs
FG-03 Fork Guide
- 9N 5 2 i I it
[ i it |- Joniilienion | i T
N 30 = i Applications of Base Corner
| kg et e la
FP - ———— - S
= | [ [F=Fifl = |
- 1 I + e —r — __I: .]_. -
£ o S ST . L |
»n ' - - =
[Y¥} 35 (]
= | | S
n n , | . 3
& : e A o
S - Material Steel =y B _'1—[ ]
(&) ) | i\ m
<< - Weight 1770kg E" o
- Q'ty/Box 2pcs . e | = .
168
143

142



ACC ESSORI ES FORK GUIDE & ASS'Y HAUL ACC ESSORI ES FORK GUIDE & ASS'Y HAUL

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

FG-A Front Haul Ass’y-Spring Type FQ-B Front Haul Ass’y-Quicking Type

f-o
5 Hex Bolt M8x45 "
,|"" o — P | i - Hex Bolt M8x45
| i Plain Washer M8 III' H
) i | 4 Plain Washer M8
i CM-100 | |
. e o
= i X i
N il £
Ef’
. 3 : ] B
- Material Steel [ “| LB Steel 2 ‘H’ : I:l' —- :
B - o | ¥ - l -
- Weight 3400kg g "i-": :ﬁ ! |3| . - Weight 3100kg T 1 Ho
| S— Y = 1¥ .
g — & pll 8 E - :
- Qty/Box 4pcs tl_ ] I _-I= ~ FA - Qty/Box 4pcs Plain Washer M8
g - 6 Plon RS Nylon Nut M8
e Front Haul Ass'y
RS-A Rear Haul Ass’y-Spring Type
e
Hex Bolt M8x45 L .
- : = ]
Plain Washer M8 o I —'I i Hex Bolt M8x45
- all |
(=2 | | Y
id - g LS g A . &
o . 1 CM-100 I—-—‘;-' 2t 2 : Plain Washer M8 o
o 1 | E— o o i} | m
b7 L X | |
(2] - Material Steel o el 1924
§ = 2 Weight 2143k & e 5
- Wei ;
<C - Material Steel -] ° ° m
) - Q'ty/Box 4pcs
- Weight 1.500kg P
- Qty/Box 4pes RQ-B Rear Haul Ass’y Quicking Type
F ol
Plain Washer M8
L Nylon Nut M8 Plain Washer M8
3 Nylon Nut M8
'H
l
|
|
| - Material
! - Weight
o - Q'ty/Box
FS-A RS-A

144 145



ACC ESSORI ES FORK GUIDE & ASS'Y HAUL ACC ESSORI ES METAL CLAMP

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

RQ-C Rear Haul Ass’y-Quicking Type

PC-A Base Lock Metal

bod oy e
1 e ~ B

- I =i ” .
. | | [ S | 2

- Material Steel el
T

i' - Weight 0.063kg 1 | :E"J Fan P i .

- Material Steel

- Weight 3380kg |: a8 i . « “ e
L b A oo b i o Bl ——
- Qty/Box spcs i H_ = Q'ty/Box 150pcs o e el
L a - TR T
el EX RG] 57 PC-BN Pipe Clamp (Single Mount)
i =
: 1 LY .
I% [ R
- Material Steel s "% 1
"‘ﬂ' . L : ’ i)
i‘ - Weight 0.020kg ol T ) e
A = t
E - Q'ty/Box 300pcs "h =t s
- - - I
- Material Steel
o - Weight 2.046kg PC-CN Pipe Clamp (Double Mount) >
L o
o‘ - Q'ty/Box 6pcs . %
o o e Pe— [¥2]
(72 | | ol (72]
7] L u £ o
S RS-AN-1 Rear Haul Ring Ass’y % L LS - Y
= - Material Steel L it 1 T o
< L. ; \ wn
- Weight 0.026k ! re L B
g g .l E‘*! . ﬁq
- Q'ty/Box 400pcs 0 e
r i 1
i S

- Material Steel
- Weight 1.090kg
- Q'ty/Box 24pcs

el

VAL &
7 A7 52

LAY
&
%
Y 1

146 147



ACC ESSO RI ES HOOK, HANGER, & HANDLE

ACCESSORI ES METAL CLAMP

* Surface Treatment - WZ Unit : mm

Band Hook

* Surface Treatment - WZ Unit : mm

PC-A Pipe Lock Metal BH-A

ACCESSORIES

148

- Material
- Weight

- Q'ty/Box

Steel

0.157kg

50pcs _!"r\ :’i i 1

PC-A Pipe Clamp
. -E"'-:
——— — ] .ﬁ. . .!L_- -l ) 5
- Material Steel - :"'l R
- Weight 0.012kg | %
& 11| PeE :
- Q'ty/Box 400pcs E‘it!ﬂ% s k.
_,'I | QI -
PC-A Pipe Holder
= E I
o
| i i B
) |_ i ] CF o) :
- Material Steel - 2 2% P
e | |1 . =
_--"‘H- - Weight 0.076k '.5'_'1:“ l - ﬁ .
. 9 Iq 1 |. !*.; T - .
- T | I: '._!.. e
- Q'ty/Box 150pcs S e e L
1 |

Applications of PC-D

Locking Folding

BH-B Band Hook
R - Material Steel
- Weight 0.001kg
- Q'ty/Box 2000pcs
PH-A Hanger
PH-A
w £
— - Material Steel :-.'I
- Weight 0.001kg
B 7
\ - Qty/Box 500pcs mi | avs
PH-B Hanger
- Material Steel
- Weight 0.001kg
- Q'ty/Box 250pcs
PH-B1 Hanger
- Material Steel
- Weight 0.001kg
- Q'ty/Box 250pcs

- Material
- Weight

- Q'ty/Box

Steel

0.001kg

1000pcs

S3140SS3IV

149



ACC ESSO RI ES HOOK, HANGER, & HANDLE

ACCESSORIES

150

* Surface Treatment - WZ

PH-C

g - Material Plastic+Steel
5 - Weight 0.019kg
- Q'ty/Box 90pcs
nu--ll"r
PH-D Hanger
A
. |
1 \, - Material Plastic+Steel
i
L  Weight 0.0T7kg
- Q'ty/Box 100pcs
Sleeve Hanger (2 Hole)
. e JAE 3 2@
¥ [
' - 5
1y
- Material Steel K |
| & ¥
- Weight 0.050kg 1 1% ,if'._ i
. 1 .".']-J:
- Q'ty/Box 70pcs ELE N | ez |
GS-1014A Sleeve Hanger
- B —
BT T BOE | @
LT | 1 T
] £ I o [ Ll B : "
- Material Steel g ’HI = H A -
. [ =l
- Weight 0.130kg i | I
' R
- Q'ty/Box 70pcs i

* Surface Treatment - WZ

GS-1014B

Sleeve Hanger

ACC ESSO RI ES HOOK, HANGER, & HANDLE

Unit : mm

[} II m H e
{ ' —of [ i _aom
! | — |: [ !,.-"-H_
! I - Material Steel | ;'.i
-—J'I | b : é,. _: ,
- Weight 0130kg ] H :'ia
1 I — . L]
I - Q'ty/Box 70pcs i LI B
| ]
GS-1024B Sleeve Hanger
GS-1024B

GS-1044B

- Material
- Weight

- Q'ty/Box

Sleeve Hanger

Steel
0.100kg

56pcs

- Material
- Weight

- Q'ty/Box

Steel
0.155kg

33pcs

GS-1014CHor CJ

GS-1014B

Can be used temporary Stopper

S3140SS3IV

151



ACC ESSORI ES HOOK, HANGER, & HANDLE ACC ESSORI ES METAL JOINT COVER

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

ECH-28A End Cap Hanger MIC-G1 Metal Joint Cover

———— —
o —
—— .
L Tl
J - Material Steel - Material Plastic
i j - Weight 0.060kg - Weight 0.013kg
L]
i
- Q'ty/Box 70pcs - Q'ty/Box 150pcs
* Color : Natural

Metal Joint Cover

HM28YA Hanger Metal

HM28YA
=¥ |
- Material Steel = - Material Plastic
P - Weight 0.049g - Weight 0.012kg
- Q'ty/Box 100pcs ns - Q'ty/Box 280pcs
q.“‘- * Color : Natural
H Hanger Metal Metal Joint Cover
P72 HM28YA
@ S
o T (@]
o LY, m
(7] . s : -
(7] - Material Steel _ - Material Steel b92d
il S
8 - Weight 0.040kg ! - Weight 0.020kg m
< aF [72)
- Q'ty/Box 100pcs ' - Qty/Box 120pcs
% L * Color : Natural
Handle (Flat Type) Metal Joint Cover
omp__as
1& E-Ii :
——
5 |
- Material Steel —t— | - Material Plastic
. Hye .
- Weight 0.020kg - = - Weight 0.020kg
, | A
Q'ty/Box 500pcs A ' " Q'ty/Box 120pcs I Lms
. *Color : Natural
Handle (Round Type) MJC-G6S Metal Joint Cover
c =
- [ Patent Pe] @il - ™ : = MJC-G6S
|l
Material ‘s / - Material Plasti
ateria Steel ﬁr’ astic i
- Weight 0.020kg  Weight 0010kg F =
- Q'ty/Box 400pcs - Q'ty/Box 150pcs A L i
~

* Color : Natural

152 153



ACC ESSORI ES METAL JOINT COVER

(7]
2
oc
o
72}
(73
Ll
(&)
o
<

154

* Surface Treatment - WZ

MIJC-G7A Metal Joint Cover

Unit : mm

ACC ESSORI ES TOOL HOLDER

* Surface Treatment - WZ Unit : mm

TH40PA Tool Holder

- Material Plastic

- Weight 0.008kg

- Q'ty/Box 300pcs

* Color : Natural

MIJC-G7B Metal Joint Cover

- Material Plastic

- Weight 0.008kg
- Q'ty/Box 300pcs
* Color : Natural

MJC-G7B

MJC-G7A

- Material Plastic
- Weight 0.087kg
- Q'ty/Box 50pcs

*TH40PA : PP (Color : BK)
*TH40PNA : Nylon6
(Color : Dark Gray)

Tool Holder

- Material Plastic
- Weight 0.087kg

- Q'ty/Box 50pcs

|| *TH50PA : PP (Color : BK)
' *TH50PNA : Nylon6
I (Color : Dark Gray)

Tool Holder

Matera S
ateria Steel (@)
- Weight 0.108k m
A g (on
- Q'ty/Box 25pcs X
&
‘ *Color : WZ
TH60PA/B Tool Holder
i
- Material Plastic |
i:-||
- Weight 0.082kg |
1
- Q'ty/Box 50pcs ;
*THB0PA/B : PP (Color : BK) &
*THB60PNA/B : Nylon6 |
(Color : Dark Gray) '
TH65YA Tool Holder
- Material Steel
- Weight 0.197kg
- Q'ty/Box 25pcs
*Color : WZ
|
155



ACCESSORIES  assveuer ACCESSORIES  assveuer

o . _ Unit : mm
= Surface Treatment - WZ Unit i mm Surface Treatment - WZ : -
GRHA-15R Bearing Pulley Ass’y (Right) GRVA-15R Bearing Pulley Ass’y (Right)
= ety AR -
: e Lad - T 'i E15ES fﬁ\l
- o % N L P
i Ap—— e L 1 — | E | = T GRV-15R
q_ F =g £y o — -~ % I.':' : L
@ - Material Steel B - e T F_h ’ g k| ateria ee @ il o [[4 31
r z@- B | g i ; - Wei als
_ - Weight 0129%g e o A 4 Weight 0122kg eaia
- Q'ty/Box - - Q'ty/Box

GRV-15R Pulley Holder BKT (Right)

Pulley Holder BKT (Right)

s

: 2 3 - Material Steel
- - Material Steel GRH-15R ey ey
BAs-32 ,? g - Weight 0.055kg __1___5-@' cPaz
. - Weight 0.055kg GP-32 / Tag ; ' N

; Spring Washer M6+ ' - Qty/Box 240pcs ’-E{ '""-.‘_ 'Spring Washer M6
- Q'ty/Box 270pcs WS . MRS
)
(2] . 7. N 2 ’,
5 GRHA-15L Bearing Pulley Ass’y (Left) GRVA-15L Bearing Pulley Ass’y (Left) a
<] =
e — 0
- Material Steel o & - Material Steel
- Weight 0.129g . - Weight 0.122kg
| : . - Q'ty/Box - Q'ty/Box -

GRH-15L Pulley Holder BKT (Left) GRV-15L Pulley Holder BKT (Left)

- Material Steel - Material Steel
- Weight 0.055kg - Weight 0.055kg
- Q'ty/Box 270pcs - Q'ty/Box 240pcs

CRaz2; oy
Spring Washer M6 _,“f ?ﬁ
Mpazsw

156 157



ACC ESSOR' ES ASS'Y PULLEY ACC ESSOR' ES NAME PLATE & LABEL CASE

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

BRA-32 Bearing Pulley NP-A Name Plate

L fa
. ny ::ﬂ\-t..l 'E
J I - Material Steel ! - Material PVC T i i
| : 1
. - Weight 0.012kg h‘j - Weight 0.047kg | |
IME il ) B i
- Q'ty/Box 1,000pcs | ] - Qty/Box 180pcs s
Gap Bushing Name Plate
1)
iT
.-.m".-fii'
- Material Steel - Material pvC I l? 5
a_| — =
- Weight 0.006kg - Weight 0.047kg | T B
- Q'ty/Box 2,000pcs - Q'ty/Box 360pcs . 1% :
Wire Holder(WiIre falling preventer) Name Plate
Ly
| wa
o [ ¥ i
L ! ::j -l NP-C =
o T = O
o I= i m
n | 174
(/0] | & = E T
i : E 2 ) o
(&) - Material Steel . T - Material PVC )
Q = Al m
< - Weight 0.004kg = - Weight 0.035kg % o
Lo [ L |
- Q'ty/Box 3,000pcs o | - Q'ty/Box 190pcs
NP-D Name Plate
i
2 NP-D
Wrench Bolt M6x10 1
L 1
- Material PVC g It LI o e ML B |
- Weight 0.032kg
, |
- Q'ty/Box 190pcs
GRH-15L/R NP-E Name Plate
({\l i NP-E
JA
"\_‘_\_ o
Spring Washer M6 \ - Material pPvC - jl_ -
- Materia e T T — -
Q(@ T e ey g L - i
Wrench Bolt M6x25 - Weight 0.023kg 150 |
- Q'ty/Box 330pcs

158 159



ACC ESSOR' ES NAME PLATE & LABEL CASE

* Surface Treatment - WZ Unit : mm

NP-F Name Plate (Requires GAP-58, sold separately)

FE L
- Material PVC - __,ri-_ =8
M PO . PP i iy PN gt L
- Weight 0.0T7kg T TEENLY
L L]
- Q'ty/Box 100pcs
NP-F40 Name Plate (Requires GAP-58, sold separately)
ﬁ S ﬁig* NP-F40
MR \ .
- "';ﬂ I‘:-ur. ' 2 it GAP-58
- Material pPVvC e S B A R i Fvl
T ] - Weight 0019kg | : = —
- Q'ty/Box 100pcs
NP-G Name Plate (Requires GAP-58, sold separately)
<.
g L 'ﬁ"' ﬁzﬂ NP-G
(72} -\'-\-,__. s
] H‘qf’ﬁ e . S 3 GAP-58
rE) 1 i - Material PVC R £ e e i 5 LR
o M B o
< HG - Weight 0.026kg - -
150
- Q'ty/Box 360pcs
NP-H Name Plate (Double-sided adhesive tape type)
i
Ei NP-H
— —
- Material PVC
- Weight 0.013kg
L]
- Q'ty/Box 100pcs
NP-R Name Plate
- o

o e - o ;
ik e —— T jgl =
g vk
. - Material PVC l‘__'_':_i___ e =i
] 1

- Weight 0.01kg L il

- Q'ty/Box 100pcs

160

* Surface Treatment - WZ

NP-K Name Plate

ACC ESSOR' ES NAME PLATE & LABEL CASE

- Material
- Weight

- Q'ty/Box

PVC
0.013kg

300pcs

Name Plate (Double-sided adhesive tape type)

- Material pPvC

- Weight 0.020kg

- Q'ty/Box 1000pcs
v\“'& NP-M Name Plate

- Material pvC

- Weight 0.016kg

- Q'ty/Box 1000pcs

Unit : mm

S3140SS3IV

161



ACC ESSORI ES NAME PLATE & LABEL CASE ACC ESSORI ES LEVELING FOOT

LABEL CASE . Small-Type T
) ) Weight Q'ty/Box- Leveling Foot
Configuration Hole Part No. w H ke ty/Box AD30PA 9
(kg) (pcs)
LA 300%100 300 100 0.040 300 o
; = _ LA-B 300%120 300 120 0.045 200 .
: ki D —— D ——> ° = . M t | H
_ -'H € 300%220 (Hori 300 220 0.08 250 — e e
;I e LA (Horizontal) .084 5 - Weight 0.035kg
LA-A3 430+320 430 320 0.177 250 - - Qty/Box 150pcs
T ——— ‘ W ‘
‘ ‘ LC 250%80 250 80 0.024 = 300 -
AD32WA Leveling Foot
LC 250%100 250 100 0.030 300
i
* - Material Steel & Plastic
- Weight 0.053kg
LC-B 210%80 210 80 0.021 300 4
l' W _ m - Q'ty/Box 125pcs
: . | LA-D3 150+60 150 60 0.012 300 Normal -Type
B 3 Hole
| LA-G 230%95 230 95 0.027 = 1250 AD32WB Leveling Foot
w
— ‘ ‘ LAt 2104100 10 100 0028 850 TN Part No. Material Threaded = “L” ESD
‘ AD32WB 50 O
" AD32WC Steel | /128 100 O =
L 3 AD32WD W2) 150 O Q
x -0 AD32WB-M 50 | O m
T l AD32WC-M M12-P1.75 100 O 143
[T (@)
(&) - 2
2 e — e LA2 300%100 300 100 0.040 300 AD50WA Leveling Foot m
T i Part No. Material Threaded =“L” ESD
2 Hole LA 215160 215 160 0.045 200 AD50WA 50 O
Al i | AD50WB Steel | 1212y 100 O
| | | i 3 AD50WD (W2) 150 O
: LA-C2 220%*300 (vertical) 220 300 0.080 250 m AD50WE 200 O
- AD50WB-M M12-P1.75/ 100 | O
AD5S0WA-AC Leveling Foot
LA-D 150+60 150 60 0012 1000 i | Part No. Material | Threaded = “L”  ESD
s, AD50WA-AC 50 O
1 = i ADSOWB-AC | Steel 100 O
_ pr——— LA-H 170%135 170 135 0.030 300 W — 1/2-12N
T | P ADSOWD-AC  (W2) 150 O
| Fiells N ADS0WE-AC 200 O
LA-P 136+40 136 40 0.007 300 -
| "W | AD5S0ORAN-H Hexagon Leveling Foot
LC 180+85 180 85 0.021 300

W2)

-1
=
162 ! 163

| L]
il
A
Part No. Material Threaded @ “L”  ESD g
- ADSOWAAC o€l oy 50 O i
S



ACCESSORIES LEVELING FOOT

STS-Type
AD35SA

Leveling Foot

Part No. Material\ Threaded = “L”
L ADIA T gs g |20
AD325B 100

1
iy
ESD I
O 5 I
1

© [ ws |

AD40SPA Rubber Leveling Foot
; Part No. Material Threaded = “L”
= AD40SPA 50
= ADAOSPAE | ors /212N
ADA40SPB
AD40SPB-E

ESD 2
X

O 1

100 X =l

O L - .I |

Rubber Pad-Type
AD32RA

Rubber Pad Leveling Foot

Part No.

Material

Threaded

AD32RA

B L]

AD32RA-E

AD32RB-E

Steel

1/27-12N

50

100

k AD32RB

AD32RA-M

(7]
2
oc
o
72}
(73
Ll
(&)
o
<

AD32RA-EM
AD32RB-EM

W2)

M12-P1.25

50

100

O%x%x%xﬂ
5

:
@ O

AD50RAN

Rubber Pad Leveling Foot

Part No.

Material

Threaded

=

ESD

AD50RAN

AD50RBN

il

AD50RAN-E

AD50RBN-E
AD50REN
AD50RAN-M
AD50RAN-EM
AD50RDN-M

RB-AD37 Rubber Pad (For AD32W)

Steel
(W2)

- Material Rubber
- Weight 0.006kg
- Q'ty/Box 1,500pcs

164

1/2>-12N

50

100

200

M12-P1.25

50

100

> O‘XXO‘XO‘X

RB-AD45

- Material Rubber
- Weight 0.011kg
- Q'ty/Box 2,500pcs

ACC ESSORI ES THREADED INSERT & CAP

Threaded Insert for Metal Rack

Unit : mm
Part No Classifcation Application Colors Threaded Spec Y] A Dimension
BC2807A 1/27- 12N
BC28078 White M12-P1.75 Steel
©28xT0.7 : - @24.1
BC2807D Gray M10-P1.5 Plastic
BC2809A White 1/2” - 12N Steel
BC28098 M12-P1.75
BC2810A ) 1/27- 12N
. ©28xT1.0 White Steel 0235
BC2810B Coated Pipe M12-P1.75
BC2810D M10 - P1.5
BC2814A 1/27- 12N
028xT1.4 Gray ! Plastic ©22.7
BC2814B White M12 - P1.75
i BC2820A 5284720 White 1/2"- 12N e
— BC2820B M12-P1.75 @219
3 BC2820D ©28xT2.0 White M10-P1.5 Steel
’ BSO7A 1/27 - 12N
) ?26.8
BSO7B @28xT0.7 White M12 - P1.75 Steel
BSO7D M10 - P1.5 ?26.3
BS10A » 1/2” - 12N
STS Pipe .
28xT1.0 White Steel 26.1
BS10B ECO Pipe o M12-P1.75 ce o
BS12A 1/27 - 12N
) @255
BS12B ©28xT1.2 White M12 - P1.75 Steel
BS12D M10-P1.5 0253
[,
BC3210A 1/27- 12N Steel P i
1
Coated Pipe @32xT1.0 White ©27.5 u
BC3210B M12-P1.75 Steel Fg-ra
AS2807A STS Pipe 1/27- 12N
; 228xT0.7 026.5 P
AS2807B ECO Pipe M12 - P1.75
AC2909A 1/2” - 12N . i
028xT1.0 Gray Aluminum 2238 |
AC2809B ! M12-P1.75 i
Coated Pipe .-:1 t_
AC2814A 1/2"- 12N =
?28xT1.4 ! ©22.8
AC2814B M12-P1.75
Inner Cap for Metal Rack _
Unit : mm

Classification

All Thickness Pipe
(Coated Pipe & STS Pipe)

028
Coated Pipe
STS Pipe
ECO Pipe
@32 Coated Pipe

Part No
GAP-4P-i
GAP-4P-B
GAP-4P-G

GAP-4R-B

GAP-4C-i
GAP-4C-B
GAP-4C-G

GAP-45-i
GAP-4S-B
GAP-45-G

GAP-4310-i
GAP-4310-B
GAP-4310-G

Colors

Ivory
Black

Gray

Black

Ivory
Black
Gray
Ivory
Black
Gray
Ivory
Black
Gray

Marking

GAP-4P

GAP-4R

GAP-4C

GAP-4S

GAP-4310

Material

Plastic

Dimension

S3140SS3IV

165



ACC ESSORI ES THREADED INSERT & CAP ACC ESSORI ES THREADED INSERT & CAP

Unit : mm Unit : mm

AD30PA Leveling Foot Rubber Foot

Part No. Material Pipe Diameter Remark Part No. RF-01 RF-01E
GAS-07A Coated @28 x t0.7 - Material Rubber
=== GAS-10A <teel Pipe @28 x 110 Wo - Weight 0.035kg
9 GAS-07S STS/ECCO @28 x t0.7 - Q'ty/Box 250pcs
GAS-125 Pipe @28 x t12 Dark
Remark Gray ESD (BK)
- Weight 0.009kg £ R _
1
A 1 RF-01: DG (Dark Gray)
Qty/Box 600pcs | — -L J RF-O1E : ESD (Black)
GAM-07S Metal Cap RF-02 Rubber Foot
Part No. | Material Pipe Diameter = Remark - oo Dart N RF-02 RF-02 RF-02 SR i
STS/ECCO ol | art o : (Soft)  (ESD) @eR
GAM-07S  Steel : @28x107 W2 '} | 4
Pipe i F - Material Rubber
q = - Weight 0.011kg i
. - Q'ty/Box 450pcs A2T.5
@28 Remark Black B - )
- Weight 0.037kg L 7 [Ty
b |
- Q'ty/Box 500pcs . I ! ! |
B34
wn 5
o
o : &
a3 AC2809N Aluminum Cap @
LLl o
] 2
O Part No. Material Pipe Diameter Remark [ m
< L 177
AC2809N Aluminum Coated 228 x t0.9 W7 | .
- AC2814N Pipe @28 x t14 | ﬁrl
8
i
28
- Weight 0.024kg é
- Q'ty/Box 200pcs —
(0]:1:7:\)] Threaded Insert
Part No. Material Pipe Diameter Remark
OB28AN Steel , 1/2" - 12N arg
% 0B28BN (W2) All Pipe 228 yna-pizs l-i:ﬂh:- —*
E i
1
. r~]_ |
3 el 28
- Weight 0.045kg s
el
- Q'ty/Box 200pcs %-
167

166



ACC ESSORI ES THREADED INSERT & CAP ACC ESSORI ES THREADED INSERT & CAP

Thread Insert for Aluminum Rack Thread Insert for Aluminum Rack

“A” Detail | Application Threaded Spec Material Configuration

Unit : mm

“A” Detail  Application Colors Threaded Spec Material Configuration

BA2800A 1/27 - 12N BA4040A 1/27 - 12N

5 ’ ?28 Gray Aluminum E - 40X40 Gray Aluminum
BA2800B M12 - P1.75 BA4040B M12-P1.75
BA4545A 1/2” - 12N
Q - 45X45 Gray Aluminum
BA2818E - 028 White M16 - P2.0 Steel BA445B M12-P1.75

BA280LA (:) 1/2” - 12N
Shape of classification "A"
e g
“ BA280LB D M12 - P1.75
- ?28 White Steel
1 BA280LD O M10-P1.5
BA28OLE O M8 - P1.25
g BA2800H Gray Housing Plastic R
o o
2 STS Nut i o
@ Nut - 728 M12 - P1.75 3
8 Housing White Steel %
< 1/2” - 12N 2

Shape of classification "A" BA3300A 1/2" - 12N

BA3300B @33 White M12 -P1.75 Aluminum

BA3300D M10-P1.5

BA43008B @43 Gray M12-P1.75 Aluminum

O
L]
O
Shape of classification A" BA4300A O 1/2”- 12N
L]
O

BA4300D M10-P1.5

BA4300H Gray Housing Plastic
- @43 1/2” - 12N
Housing Nut White Steel
M12 - P1.75

168 169



ACCESSORIES PLASTIC CHANNEL ACCESSORIES FRAME GUIDE

Material - PVC

L-Type Unit : mm Unit : mm

Part No PFG-28A Panel Frame Guide

Thickness Weight (kg) Configuration

AL-1 EAL-1 3 30 50 0.370 PFG-28A
A2 EAL2 4 3 60 0.525 BiRIEIEE
AL-9 EAL-9 4 30 75 0.618 - Material U
AL-58B EAL-5B 4 50 50 0.544
AL-6B EAL-6B 4 50 75 0.656 - Weight 0.022kg o TR
AL-8 EAL-8 4 50 100 0.886 . Lt
. - Q'ty/Box 450pcs i d =
AL-7B EAL-7B 4 50 150 1.116 P ) e = &
AL-10 EAL-10 4 50 200 1.512 * Color : Blue |
AL-4 EAL-4 4 80 20 0.978
AL-5 EAL-5 5 50 50 0.590 Panel Frame Guide
AL-6 EAL-6 5 50 75 0.884
AL-7 EAL-7 5 50 150 1.510
T-Type
Part No - Material TPU
Thickness Weight (kg) Configuration )
Normal - Weight 0.023kg
AT-1 EAT-1 4 50 100 0.904 - Qty/Box 450pcs
AT-2 EAT-2 4 100 60 0.906
AT-3 EAT-3 4 150 60 1.145 Color : Yellow
PFG-28C Panel Frame Guide
@0 - PFG-28C =
o [l 58558 2
8 Part No [92]
& Thickness Weight (kg) Configuration - Material TPU LT | B ¥ | 1] ‘o”
O ) I | S X
=3 AU-1 EAU-1 3 36 - 36 36 0.454 Weight 0022kg % SN &
_ _ - @ a1
AU-2 EAU-2 3 55 30 40 0.572 - Q'ty/Box 450pcs al AGP-28A
B * Color : Blue
£k
4 Panel Frame Guide
S-Type o ] =
Part No
Thickness Weight (kg) Configuration m
- Material TPU
AS-1 EAS-1 4 32 70 34 25 0.772 . 0030k s 5 mE M
. 5 M. e -3
AS-2 EAS-2 5 22 60 30 30 0.580 - : 20Kg 5 p pRch L | :
AS-3 EAS-3 4 17 50 30 30 0.800 - Q'ty/Box 450pcs —_'—_'—'ﬂ—ﬁ E:_'I- %
m
* Color : Gray -
- PFG-28E Panel Frame Guide
Pipe-Cover
Thickness Weight (kg) Configuration .E:E
Normal !
PC-01 EPC-01 25 - - - - 0.320 - Material TPU
PC-02 EPC-02 25 - - - - 0.310 - Weight 00tekg

]

* Color : Yellow, Blue

170 171




ACCESSORIES FRAME GUIDE ACCESSORIES FASTENERS

Unit : mm
CFG-28A Chassis Frame Guide Fastener Type Part No. Item Spec Colors Usage Fastener Type Part No. Item Spec Colors Usage
7
s MO0610W White
L vt et CFG-28A fhoew e Mexio
_ 1
- Material TPU 'l T-Nut M6 Joint w . 1 Metal
) \ = ! o el
+ Weight 0021k TNOGB Black b ot
15 i 03 e ) | MO0612W  M6X12
LA e B e =
- Q'ty/Box 450pcs HE i O T | White
° B ST
* Color : Gray SW04W M4 MO615W  M6X15
K\ -
& PFG-P20/40 Panel Frame Guide SHERhY 2 MO625W White

., " <PFG-P20> SWoew M6 M6X25

ﬁ-_‘ i r‘q Spring
. ; MO0625B Black
# h- - Material TPU apn PFG-PR] i J ST Washer - White Bolt i;” Sl Metal

H - Weight 0.042kg Joint

SW10W M10 MO0630W White

- Q'ty/Box 200pcs M6X30
Prepa0s SW13W M12 MO630B Black
- Material TPU PWO0AW M4
_ MOS30W  M8X30
- Weight 0.035kg PWOSW M5 } P1.25  White | ALJoint
- Q'ty/Box 200pcs 24 I'F_‘" Flat M0840W  M8X40
»n P - (M . .
@ i \_—) PWO6W  Washer M6 White Bolt =
= z :
S = o . é,. M1020W M10Bolt m
A ‘.’ P1.25 White ~ Caster 8
8 PW10W M10 M1225W  M12Bolt %
- 1)
NNO4W M4
GM835W Caster
NNO5W M5
GM840W
NNOBW M6
Nylon
Il )" NNOSW Nut M8 White Bolt GM850W  M8Bolt P1.25 White Base
"'_l_-l_" Lock
NNTOW M10 Metal
GM860W
NN12W M12
GM870W
NNOSW-i | Inch g 5m g5
Nylon Nut inch Bolt
Gis32w-12  'MEh bo
NO4W M4 & ' 32mm
vk 1/27-12N White Caster
NO5W M5 ' Gi575W-12 | inch Bolt
75mm
NO6W-55 M6
i HMO0615
Nut White Bolt
w NO8W M8
HMO620  Knob P1.0 Black Metal
NTOW M10 Bolt joint
N12W M12 g

172 173



ACC ESSORI ES FASTENERS

IN304/305/306 Insert Nut

Unit : mm

" 45
\ W - E
2 P o1 Y,
CoE— =l ot
i
Part No. “‘A” Tap Remark
- Weight 0.005kg IN 304 M4
IN 305 M5
- Q'ty/Box 1000EA IN 306 M6
SN304/305/306 Spring Nut
N 49
- % Jé/ 5 . T Lm
. A
s & * e =
L) u-l o
Part No. “‘A” Tap Remark
- Weight 0.005kg SN 304 M4
, SN 305 M5
DN - Q'ty/Box T000EA SN 306 M6
Ll
o
Sl IN404/405/406 Insert Nut
i
] L]
R Y d el
l‘;'- L, e .'_ I o — : I
= / 1 T 1
: =1
Part No. “A” Tap Remark
: IN 404 M4
- Weight 0.008kg IN 405 M5
: IN 406 M6
- Q'ty/Box 1000EA IN408 M8
SN404/405/406 Spring Nut
— ﬂ i
— W
\ «& {14 Cis
h* |
Part No. “A” Tap Remark
. SN 404 M4
- Weight 0.010kg SN 405 M5
) SN 406 M6
- Q'ty/Box 1000EA SN408 M8

174

ACC ESSORI ES HAND CUTTER

* Surface Treatment - BK/Ni

HC-1

Pipe Hand Cutter

Include Knife(PK-1)

Range Remark

Material&Thickness of Pipe
- STS Pipe
- ECCO Pipe
- Coated Pipe

0.1t~ 1.4t
0.7t~ 2.0t
0.7t~ 2.0t

Unit : mm

- Weight 0.52kg
- Q'ty/Box 21pcs
PK-1 Pipe Cutter Knife
Bearing 6862z
!
- Weight 0.016kg
“QiyBox | 90pes

* Knife for Pipe Hand Cutter (HC-1)

S3140SS3IV

175



ACC ESSORI ES LIFT TABLE ACC ESSORI ES LIFT TABLE

Unit : mm LIFT TABLE COMPONENTS Unit : mm

LIFT TABLE L-500 Rail

Feature

User can easily move the table of the lift table in accordance
with the height of him or her.
Also, the user will plainly modify the structures of the lift table.

Specification

- Weight 0.912kg - Weight 137kg
- Q'ty/Box 25pcs - Q'ty/Box 40pcs
Model LT-500 LT-750
TABLE SIZE 800X600 1200X800
STROKE MAX. 200MM
OPERATION MANUAL TM16-500 Screw ass'y BBO1 Ball bearing
LOAD 10KG Lo
80—
F _w 1T 1
L o= 4
-.
—tr— e C 8
i
- Weight 0.570kg - Weight 0.060kg
o - Q'ty/Box 40pcs - Q'ty/Box 84pcs >
| o
o (o]
2 &
% B.O.M (LT-500) Dimension 3
O _ _ X
< Part No. PART NAME UNIT QTY REMARK @ o I Ip GAP-21A Nut block GAP-22A Bearing block o
L-500 RAIL EA 2 : .. L
T (% k)
TM16-500  SCREW ASS'Y EA 1 =i e -:“:' F::Il
L
GAP-21A  NUT BLOCK EA 1 i -aﬂ'-" :I..f#ﬁ"
- | 1 ] I
o (&8
GAP-22A BEARING BLOCK EA 1 C:ﬂn E ) . % 3_ I |_|_ I s
o
BBO1 BALL BEARING EA 4 = - Weight 0.133kg - Weight 0.115kg
HD-80 HANDLE SET 1 . - Q'ty/Box 42pcs - Q'ty/Box 42pcs
=1 0l
Condition of
S2807 PIPE MT - the sizes [
GAP-4P INNER CAP EA 4 @ 7= . =
1] ] 111X
GAP-12 SLEEVE EA 10 = 50 = HD- 80 Handle ITEM SPEC QTY REMARK
520(750,
GA-1S JOINTS SET 10 Wheel @80 x M06 1
GA-12S JOINTS SET 10 Handle M6. L=60 1
PS-A JOINTS SET 2 -
% Key 4X4X15 1
BSO7B THREADED INSERT EA 8 %
o
S Wrench Bolt M4 X 10 2
M1225W BOLT EA 8
- Weight 0.180kg
SW13W WASHER EA 4 - Q'ty/Box 30pcs SNAP RING SN12 1

176 177



ACCESSORIES  omers ACCESSORIES  omers

Unit : mm Unit : mm

Monitor Bracket (VESA Hole Standard) Door Latch

- Material Steel - Material Steel . rh E
VT in
- Weight 0350kg - Weight 0.305kg —rri &,_._L" mas | [T
e = | | e
- Q'ty/Box 20pcs - Q'ty/Box 40pcs | | _}f‘:-. al
Ll i i
] ]
Applications of Door Latch
-
~F A
[
J g ]
4 :
wn ! = >
2 \ 2
s i
[92]
74 1743
wn
LLl o
S 2
m
<< [72)
[CLOSE]
MB-19/22 Spanner for Caster
J c - Material Steel
- Weight 0091kg
- Q'ty/Box 50pcs
R RL Threaded Stem Type Caster
or Fastening Rubber Type Caster
178

179



ACCESSORIES  omers ACCESSORIES  omers

Unit : mm

Tool Cap Roller Conveyor Pulley Bearing

L g ", .'m' A—— GAP-48
= a2
- Material Rubber ! - Material Plastic
- Weight 0.012kg Y - Weight 0.017kg
- Q'ty/Box 450pcs L : - - Q'ty/Box 100pcs
-+ ¥
* Color : Blue

Rotating Cross Joint Sleeve Bushing (Metal)

BUSH-12

. r 'F-'! 1 : - F1 -._.@___ - Material Steel
- Material Steel p =& -E\c - ?ln- — EEss . Iﬂ - Weight 0.035kg
) L= 1 - o
- Weight 0.128kg A& |=,j Y _il-‘_ t __:- lﬁ -ﬂ__.-f"'r - Q'ty/Box 120pcs
L 1™ 5 & L
. - - - - o, PR
- Q'ty/Box 96pcs 1:'E:I ’ - * Joint for assembly :
G-12S, G-17S, G-18S,
G-24S, G-25C, G-225
Rotating Cross Joint Folding Bracket
7 LR >
Ll i (e
7] - Material Steel ey AR -__I:] g
4 3 4 o L f 3 : e :
= - Weight 0.104kg = ﬁ L A A pﬁ’ ' * Material Steel %
= - Q'ty/Box 96pcs {:}, "_esa - Weight 0.155kg 1~
‘ - Qty/Box 50pcs
Rotating Cross Joint \;‘3\ MCY-304A Metal Stopper
UL S
i
o aFl
p==1e] 5|
[N | F A |
- Material Steel - Material Steel R L
- Weight 0105kg % - Weight 0.038kg 7]
- Q'ty/Box 70pcs - Q'ty/Box 150pcs 5% E,
-I - Iu
Shaft Cylinder w\é& MCY-304B Name Plate Holder
E MC¥-G04
i v - Material Steel - Material Steel y .I[u!:-'
= — g LR
; ) - Weight 0.190kg - Weight 0.021kg
”’ - Qty/Box 90pcs - Q'ty/Box 250pcs as i G-Tal

180 181



ACCESSORIES  omers ACCESSORIES  omers

* Surface Treatment - WZ Unit : mm * Surface Treatment - WZ Unit : mm

AD-SM

Stanchion Mount Single HCP28A Hole cup-A

: “'--J
* - Material Steel
. - Weight 0198kg - Material Steel
- Q'ty/Box 20pcs - Weight 0.300kg
* Including M6 Bolt * Color : Blue - Q'ty/Box 20pcs

Hole cup

- Material Steel

Steel

. f - Weight 0.052kg

. - Q'ty/Box 220pcs

- Material

- Weight 0.394kg

- Q'ty/Box

* Can be used to stack 2nd floor
Trolley with welding round or Square pipe

Anchor Plate

2 ¥ =
no: Applications of Hole Cup a
172
17:]
& - Material P/D &
S )
2 - Weight 0.052kg fm
- Q'ty/Box 220pcs
‘\e“ MCY-306A Pipe Anchor Bracket
G-758 , Sp=u z
- Material P/D = e —
- Weight 0.112kg - I:
- Q'ty/Box 24pcs , &
a.\‘
5 i -
i-!
b
f '_“._1‘? = -

182 183



ACCESSORIES

ACCESSORIES  omers

* Surface Treatment - WZ

PHR-28 Hole Roller

> %

- Material Steel
- Weight 0.045kg
- Q'ty/Box 50pcs

Applications of Hole Cup

* Surface Treatment - WZ

HG-D

M

Applications of Hinge
Metal & Corner Bumper

ACCESSORIES  omers

Hinge Metal

[
() ] ML
B
- Material Steel | ST RREE T
- Weight 0.052kg = ,!5 -
- Qty/Box 100pcs
Hinge Metal
- Material Steel
- Weight 0.052kg
- Q'ty/Box 100pcs

Corner Bumper

- Material
- Weight
- Q'ty/Box

* Color : Gray

TPU

0.323kg

S3IOSS3IIV

150pcs L]




€
£ 2
@
E ol
) ey
i1
--
| 1 i
[e] L)
£8 Wy "5
25 &
Wae | 24
8= &
nat = !
QT - o
w Qo - T
£a & e
A
=
; ”..u._prﬂlﬁ. FET ==
J | .u._ 1 ...M.. = T [ S +u.w.._.
N !lHﬂL...n H | 1 Ll...... 1
L . —— | 1 I—L
T | =@ |[¥]
| — = 11
' i =
e | i | Iir T b
[ R [ by
1 | ._AM
Tz | | i P I e o 1 S S
-h.i|_
M FE B
1d
-
=)
c2
n_Lt
c <
> 4 = (=2 wn = o £ = o
) ~ O < @) ~ O c [ ~ % +— © ~ 4
=N o o = N a 9 S O 4 ca = o 4
%] ™ o e %] ~N o = %] ™ Q () @ Q
T O aQ T o o © o Q o S L X o
) S o S K} s =
a o « QO a o < 9 — a o ©v T2 Hh o 2
+— + 0 am\...
5 =} ..r|.“ £ %
) Zz ) Zz O 268
c < O c < O =] =
_ x — = £ — <
o T =2 & =27 a T 2 5 =7 [ T 2 © £y & T = 0O
o s © & &% o s o £ 2% > g o L €832 © g o &
s =2 - ke o = I S i 2 5 D s590£0 o =% >
ie) © v D < 3 ie) © v D <+ 3 1) © Q £ 93T o © © v 2
5 = 2 o =2U S = 2 O =0 = = = O 8gxg = =|2|o
I Sl e s T R a e n : :

p

o
Ll
-
-
(o]
O
=

* Surface Treatment - WZ

ACCESSORIES  omers

Unit : mm

RB-2880A
RB-3480A

/9
ThN
0/

4
/

4

3% y 9
y N J
! 4 \Q\ /A=
VAN
/ % \ f s VI
7 IR\ A ( 7/
ANGH AN

R TR S - S—
A V4 «‘«
9% 4 4y o/
G g
l Vo4 l/ 0’,
& A As Al
WO\ A A O/AANY 5
W%Qﬂ-ulftl.'. w7 /4%( \
"\\ "\’\ ‘ \‘\'
J ,./_ &Sk«., >

A\ & 4 .
> .
4). SRR . ®)
[ .o
o n R4 %)
o 9 9 o o 154
a2 v &g a v &g
S 2 3 S 2 7
x o & x o &
e e
(7} [} 2
o W o o
9}
S © + M 9 € @ = M o
3 = | £ - =} : £ T
[a1] [ [ B 5 o 7] [ B 5
= N e ] 2lwl|l 2 8
(o)) L A s} (o)) © Q| £ s}
c = 2 O U c = =2 O U

<
(=4
]
-]
o

Applications of Ring Bumper
(RP-2880A)
Applications of Ring Bumper
(RP-3480A)

* Surface Treatment - WZ

RB-

<
o
)
<
S
)
[

5
wn
LLI
o
O
%)
%)
LL]
O
@)
<C

S3OSSIIIV

187

186



ACCESSORIES

Unit : mm

X it
2| || - wa | T
= =
i Vo _I
ool L u I 8O i
- -
oo - i B =]
nin i ] !
I |
b - Lrr—a L
T Tr 5 LR
=
)
— 2
m. o
= o
= o
m L
o o L a — o L a
S £ 9 3 K& L2 S g
o nh o o w nh o o
< =
& 9 5
L £ < < <
T S T 2 8 s T ¢ 0
= (@) g o & (V) g o &
o a 8 o 2> 5 @ 2
Q S| 2| o o S| 2| o
o ’ : o ’ :
N
O 2
) g
(&)
) =
©
g
(W = v
3 00
O 8 S
5 4
O a =
~
=
m 1)
E PSS
5 R A%
/\o,%\sm?ﬁ
e
K/
WSSS
S a5 a3
2 88 R
o
-
tegge
@ QR
WO.OO
S
3 X
T Q
lelk=1k=1=]
Z IR F
WRRR
=222
o

Wire Rack

Applications of Wire Rack

* Surface Treatment - WZ

ACCESSORIES  omers

S3OSSIIIV

189

=
L

Steel (PVC Coating)

0.139kg
150pcs

Wire Latch
- Material
- Weight
- Q'ty/Box

WL-250

188



TECHNICAL SPECIFICATIONS

* METAL RACKING SYSTEM

* ALUMINUM RACKING SYSTEM

* ROLLER TRACK SYSTEM

TECHNICAL SPECIFICATIONS

BENDING STRENGTH FOR PIPE

METAL RACKING SYSTEM

" 500 mm

A A

400 363
300

200

100 |

t0.7 t1.2 t0.7 t1.0 t0.7 t1.2
ECO Pipe Coated Pipe STS Pipe

Unit : kaf
Test Condition Spec. of Pipe Eco Pipe Coated Pipe STS Pipe
1. Test Speed : 5mm / min @228 x t0.7 158 173 166
2. Temperature : 23T 228 x t1.0 - 266 -
@28 x 12 350 - 363
HOLDING FORCE
1. Test Speed : 5mm / min
2. Temperature : 23T
o Coated Pipe Stainless Steel Pipe
Classification e T—
@28 x t07 @28 x 110 @28 x t07 228 x tN2
Direction : X More than 80kg More than 80kg More than 80kg More than 80kg
Direction: Y More than 80kg More than 80kg More than 80kg More than 80kg
DETERMINING STANDARD PIPE LENGTH
Metal Joint &0
O
i Case of @28mm
Center Measurement (L)
= Pipe Length Inside Joint (35mm x 2)
Extra Measurement (2mm-~5mm)
Pipe Length(£)
irk
=1 ™
L = VEHKCatiar wisth of rch)

£=1000-(70+2)=928(mm)

Plastic Joint B

LN

L = T Caier W]

£=1000-(40+2)=958(mm)

Case of @28mm

1000mm Center Measurement (L)

-40mm Pipe Length Inside Joint (20mm x 2)

-2mm Extra Measurement (2mm~5mm)

958mm Pipe Length(£)

Y
=
=
0
—
m
wn

191



TECHNICAL SPECIFICATIONS ARl TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

PIPE BENDING STRENGTH

Force

External D Weight Second Section 4M Packing quantity

Size = > (9/m) Moment
Specimen L=500mm | L=1000mm pcs/Bag Bag/Pallet | pcs/Pallet

- Ix :3.46x10'mm"*
H Supporting Pins H ALF2812 290 163 655 ly : 3.63x10*mm" 6 pcs 150 Bag 900 pcs
- Ix 1 3.50x10'mm"*
'L .
ALF2812B 412 202 614 ly : 2.95x10*mm" 6 pcs 150 Bag = 900 pcs
External Concentrated Load (kgf) Second Section 4M Packing quantity ATF2812 370 179 685 :;( 3175::822 6 pcs 150 Bag 900 pcs
X~ 454 331 Ix :2.04x10°mm"*
[x:1.03x10'mm’* AD2812 761 e . . 5 pcs 100 Bag 500 pcs
e @ 225 113 382 o o 10pcs | 100Bag | 1000 pcs T 1o by 1.04x10°mm
X— 689 462 Ix:3.09x10" ‘
X — . R X :3.09x10°'mm
AP2820 @ 248 122 450 | XEIIDAOMM | q0pcs | 100Bag | 1000 pes @28 | AD282 v 539 570 1138 y:2esxiormm: | 2Pe | 100Bag 1 500pcs
Y 286 143 y - 1.0bx10 mm
O AN X 1584 878 Ix : 2.40x10‘mm"
Ix:1.33x10'mm’* AD2812H e} o 1372 LS . . 5 pcs 70 Bag 350 pcs
AP2E25 @ 298 148 500 | XIIOMM 0pcs | 1008ag | 1000pcs R e ros b 3.28x10'mm
. . . Ix :0.97x10'mm"*
R O%O 405 185 741 :X : gjx: 84 mma 8 pcs 100 Bag 800 pcs AGP-28A @3@ 184 91 479 ly: 0.97x10‘mm° 10 pcs 100 Bag 1000 pcs
- y : 1.54x10'mm
X— 184 91 Ix: 1.05x10°mm’
Ix:1.13x10'mm* AGP-28B 499 A . . 10 pcs 100 Bag 1000 pcs
AR2BT @ 213 114 379 o, 10pcs | 100Bag | 1000 pcs @: ?i: vi 200 100 ly 1 0.96x10°mm
Ix :0.95x10*'mm*
Ix 1 1.30x10'mm* AT2829 265 121 595 e . . 10 pcs 100 Bag 1000 pcs
AR2820 @ 247 132 446 y+ 1.30x10"mm’ 10 pcs 100 Bag 1000 pcs ly:1.63x10*mm
. . . Ix:1.78x10'mm* |
:(I AR2829 297 154 496 Ix:1.46x10"'mm 10 pcs 100Bag | 1000 pcs ASGP-08 230 120 595 ly 1 1.10x10*mm" 8 pcs 90 Bag 720 pcs m
S 228 ly: 1.46x10‘mm’ 9:
= Ix:1.76x10'mm* <
= 171 95 335 Ix:1.05x10"mm 10 pcs 100 Bag 1000 pcs AP3315 320 165 453 ly: 1.76x10"mm" 6 pcs 100 Bag 600 pcs (@]
o AL2813 ly £ 1.05x10'mm’ o =
= <> Ix:2.43x10° ‘
. R X :2.43x10°'mm
242 127 401 Xx:1.21x10"'mm 10 pcs 100 Bag 1000 pcs AP3315H ODC) 560 255 883 ly : 2.43x10*mm" 6 pcs 100 Bag 600 pcs
A ly:1.21x10°'mm’ <
. . . Ix :5.07x10'mm*
ACh28> U 214 107 358 :; 11;:11 8" rr:rr: 6pcs | 150Bag | 900 pcs AP4319C @ 596 346 803 | |\ lSo7x10'mm’ ©PS | 60Bag | 360pcs
A x:6.18x10‘mm’
. A X :6.18x10°'mm
ALSI8D b 168 85 372 :x: 11;2x11 (C))‘mm‘ 6pcs | 150Bag | 900 pcs AP4319H ((g) 981 503 1278 6 exi0'mm: | B PCS 60Bag | 360 pcs
y:1.21x10'mm
@43
. . . Ix:6.16x10'mm*
AFS2810 @ 160 89 375 :;‘ ?-sgﬂg‘;ﬂg“ 10pcs | 100Bag 1000 pcs HELEAY @ 600 365 02 yie73x0mm | O6PS | 60Bag | 360pcs
X— 1043 874 Ix : 11.45x104'mm’
e @ 178 99 408 :X :ll 82)(:: (O),, mmA 10 pcs 100 Bag 1000 pcs ADA4319 . 1501 . 1887 ly: 6.16x104mm’ 2 pcs 90 Bag 180 pcs
y :1.06x10"mm !
181 100 374 x:1.09x10°'mm" | 10 pes | 100Bag | 1000 pes
QPP @ ly:1.10x10‘mm"

192 193



TECHNICAL SPECIFICATIONS ARl TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

Concentrated Load (kgf) 4M Packing quantity Concentrated Load (kgf) 4M Packing quantity

External Weight Second Section External Weight Second Section

Size Moment pcs/Bag Bag/Pallet | pcs/Pallet Size (/m) Moment Bag/Pallet | pcs/Pallet
. _— = X— 940 500 . .
ASQ2821A 385 188 566 :; 18I0 gpes | 100Bag | 800 pes ASI4545A %{:j&)) T sa0 0 1,320 :’y‘ a0 mm | 4ps | 90Bag | 360pcs
s 2% e
. _— D X— 1000 530 . _—
ASQ2821B |:<:>] 440 215 665 :’y‘ : ;;g’x‘: 8‘??‘ 8pcs | 100Bag | 800 pcs ASJ4545C 1{5@ T om0 o0 1,412 :)y‘ }gg;ﬂgg? 4pcs 90Bag | 360 pcs
. _— S~ X— . _—
ASQ2821C 413 202 591 :; : ;%;‘118:::: 8pcs | 100Bag | 800 pcs AS)4545D Oﬂ SVRERIED 590 1,495 :)y‘ : gjﬁ:}ggg 4pcs | 90Bag | 360 pcs
45X45 £
V4 Ix :1.95x10‘mm° = X= 1170 640 Ix:12.35x10‘mm*
ASQ2821D N\ 412 202 555 ly : 1.95x10°mm" 8 pcs 100 Bag 800 pcs ASM4545C ﬁi) v 1050 20 1,595 ly : 11.69x10*mm" 4 pcs 90 Bag 360 pcs
. - [ X— 1300 660 : -
28X28  ASQE2IE @ 291 150 523 :; emM™ . gpes | 100Bag | 800 pcs AST4545A q&ﬁ T 7350 s 1,513 :>y< aaemm | 4pes | 90Bag | 360 pcs
’ 0] .
7N Ix :2.11x10*mm" X= Ix: 12.47x10°mm’
ASQ2821F N 413 413 204 ly:3.21x10°mm" 4 pcs 110 Bag 440 pcs AST4545D .ﬁ1 7Y | 1220 670 1,607 ly : 12.47x10"mm" 4 pcs 90 Bag 360 pcs
TS X— 810 420 - -
ASJ4040A B ) 1095 | [ OEXIOMMT 4o 110Bag | 440 pcs
Jo=X Y.L 750 410 y - b.eox1Umm
Na=( X— 670 420 . A
ASJ4040B QD& 1,211 :;( : g'ggﬂgﬂm 4pcs | 110Bag | 440 pcs
=N Yl 680 370 - 0.
Se— A
X— 840 440 . o
AS14040C ) 1200 | XJIXOMT | apes | 110Bag | 440pcs
— Yl 820 430 7.
AN X= [x:7.72x10‘mm* o |
=1 ASJ4040D 870 440 1,175 S . . 4 pcs 110 Bag 440 pcs m
S hid Yl ly :7.72x10°'mm 2
= S~k X— 650 380 : - =
T ASJ4040E 1145 | X1608XI0TMmT T 10Bag | 440 pes e}
ly :6.08x10'mm
o soxdo - Y. 600 330 : >
~ AN
X— 730 350 : -
ASJ4040R 1126 | XI3.0410TmmT L 10Bag | 440 pes
ly :6.90x10'mm
TN Yl 710 350
O X— 980 490 : -
ASMA4040C O@o 1,292 :X : ; 'nglgammA 4pcs | 110Bag | 440 pcs
[e(¢ YL 900 460 y- /.70x10°'mm
W
X— 750 380 . -
ASMA4040R 1169 | X:6.00K10'mmT o 10Bag | 440 ps
ly :6.99x10'mm
ety Yy, 820 420 :
5 X— 750 400 . -
AST4040A EQ 1,190 :X : ;‘Bxlgamma 4pcs | 110Bag | 440 pcs
&a2q v 750 440 y:7.13x10°mm
(=0 X — Ix:7.67x10°‘mm*
AST4040D 970 470 1,264 . . . 4 pcs 110 Bag 440 pcs
ly : 7.67x10°'mm
DQD Y. /

194 195



TECHNICAL SPECIFICATIONS ARl TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

ELF PLATE (MANUAL FOR LP2800) JOINT HOLDING FORCE & MOMENT

Anodizing,
PE Coating

\ \ IMoment (My)
1 Moment (My) iMoment (My)

Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 80

(kaf) Fy 80 (kgf) Fy 80 (kgf) Fy 200

Moment (kgf) Mx 60 Moment (kgf) Mx 50 Moment (kgf) Mx 60

(L=110mm) My 120 (L=110mm) My 100 (L=T10mm) My 120

Ive area AA-003 A-004 A-007F/AA-007R
| | |
(@)10° 10° 10 10° iy
Holding

4—' Holding . Force (FX)
After assembling conductive plate
*|f the conductivity is needed, ELF plate sould be assembled with all kinds of AL Joint

*ELF Plate : LP2800

Holding

| Surface Treatment | 1 Moment (My)
- m
S Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 80 2
= N _ (kgf) Fy 80 (kgf) Fy 80 (kgf) Fy 80 =z
(IJ Anodizing LCoa ting Moment (kgf) Mx 60 Moment (kgf) Mx 60 Moment (kgf) M o g
Lll_J (L=110mm) My 120 (L=110mm) My 120 (L=110mm) Y -
AA-027F/AA-027M A-009 Ao
< Holding
Force (Fy)
N i 3 © z EE
2 o - q . i o ‘
Antistatic area (static prevention) Insulation area 2
| | | | h Force ()
(Q)10° 10" 10" (Q)10"1 Moment (Vy)
I < := |—> Holding Force Holding Force Fx 80 Holding Force Fx 80
. . (kgf) P g (kgf) Fy 80 (kgf) Fy 80
Surface Treatment : Anodizing Surface Treatment : PE Coating
Moment (kgf) Mx 250
(L=110mm) My 500

196 197



TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

JOINT HOLDING FORCE & MOMENT

JOINT HOLDING FORCE & MOMENT

Holding I
Force (Fy) (IT l k
2 2
28 as ol 28
) ) ) 58
g 2< 258
Moment (Mx) L U % § e T "-f\;:n ent (Mx)
Holding
1 Moment (My) L Moment (My) IMoment (My) Aorce )
Holding Force Fx 80 Holding Force F 8 Holding Force F 80 Holding Force Fx 150 Holding Force Fx 100 Holding Force Fx 100
(kaf) Fy 200 (kgf) v (kgf) v (kgf) Fy 400 (kgf) Fy 200 (kgf) Fy 200
Moment (kgf) Mx 60 Moment (kgf) Mx 200 Moment (kgf) M
(L=110mm) My 120 (L=1omm) My 600 (L=110mm) v 8
28
oZ
58
28
Holding . .""'
Force(Fx  2) % Moment (V) o&
, 58
. 28
Moment (My) Moment (My)
—
= m
O Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 100 Holding Force Fx 150 Holding Force F 100 é?:
= (kgf) Fy 80 (kgf) Fy 80 (kgf) Fy 100 (kgf) Fy 400 (kgf) =
(IJ Moment (kgf) Mx 50 Moment (kgf) Mx 50 Moment (kgf) Mx 300 Moment (kgf) Mx 200 Moment (kgf) Mx 200 g
|.||_J (L=110mm) My 100 (L=10mm) My 100 (L=110mm) My 500 (L=10mm) My 600 (L=110mm) My 400 [
o
= 2 g8
58 g5 e
5t
Moment (Mx) o "'-l\‘lli’:nent (Mx) Moment (Mx)
i Moment (My)
Moment (My) Moment (My)
Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 100
(kgf) Fy 80 (kgf) Fy 200 (kgf) Fy 200
Moment (kgf) Mx 60 Moment (kgf) Mx 60 Moment (kgf) Mx 80
(L=110mm) My 120 (L=10mm) My 120 (L=110mm) My 200
199

198



ALUMINUM RACKING SYSTEM TECH N |C A|_ SPEC| |:|C AT|ON S ALUMINUM RACKING SYSTEM

TECHNICAL SPECIFICATIONS
JOINT HOLDING FORCE & MOMENT JOINT HOLDING FORCE & MOMENT

BA-001 BA-001C BA-001H
i e it
U\E O\E =
25 g3 o2& 39
L £ 38 e
O Moment (Mx)
‘_,,:-"’ ! ‘_,.." u"" : w\&‘fze@
e Moment (Mx) = Moment (Mx) Moment (Mx) a7, ] N o <O N
! loment (MX) &
e l‘\-\'. Moment (M) g‘é’ I Moment (My)
Y S é
Moment (My) I Moment (M) Moment (My) ‘e\(‘:;\‘ql&.\“"@@h Moment (My) T
s 1
Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 100 Holding Force(kgf) Fx 80 Holding Force - s Holding Force Fx 80
(kgf) Fy 80 (kgf) Fy 80 (kgf) Fy 100 Moment (kgf) Mx 50 (kgf) (kgf) Fy 80
Moment (kgf) Mx 40 Moment (kgf) Mx 40 Moment (kgf) Mx 40 (s My 20 Moment (kgf) Mx 100 Moment (kgf) Mx 50
(L=110mm) My 30 (L=10mm) My 30 (L=110mm) My 30 Moment (kgf) Mx 30 (L=110mm) My 200 (L=10mm) My 100
(L=T10mm) My 10
BA-006 BA-007F / BA-007R BA-008 BA-091 BA-101 BA-145
= o2
[ 2 - £ ‘J
5y £y gs =
Moment (Mx) 29 295 58
= ',.-"" 28
Moment (Mx)
5 %D
el "-‘h‘/’l;ent (Mx) \)‘3)‘@6* -
g%’ Moment (My) "'.-
05
T I Moment (My) -
= o
% HoIdiEg Force Fx 80 HoIdiEg Force Fx1 50 HoIdiEg Force Fy %0 Holding Force Fx 80 Holding Force Fx 80 Holding Force Fx 40 %
& (kgf) (kgf) Fy2 80 (kaf) (kgf) Fy 80 (kgf) Fy 80 (kgf) Fy 40 5
M 90
S S w s ot M0 e &
- My 60 (L=10mm) My 100 (L=110mm) My 30
BA-011 BA-013 BA-027F / BA-07M BA-206 BA-301 BA-401
ol o o€
= 58 N 3¢
29 25 g% 22
28
7 1 -'-'-I\Zment (Mx)
/—iolding e,
Force (Fx) =
IMoment (My) I Moment (My)
Holding Force F 80 Holding Force Fx 80 Holding Force Fx 50 Holding Force B 80 Holding Force Fx 100 Holding Force Fx 100
(kgf) v (kgf) Fy 80 (kgf) (kgf) v (kgf) Fy 150 (kgf) Fy 200
Moment (kgf) Mx 50 Moment (kgf) Mx 80
(L=110mm) My 120 (L=10mm) My 150
201

200



TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

TECHNICAL SPECIFICATIONS ALUMNUM RACKING SYSTEN

JOINT HOLDING FORCE & MOMENT

BP2800H

JOINT HOLDING FORCE & MOMENT
BA-407F BA-41 BA-427F BA2800A/B BA280L A/B/D/E
Allowable T Holding Allowable l I Holding Allowable 1 I Holding
Load (Mx) Force (FX) Load (Mx) Force (FX) Load (Mx) Force (FX)
o2 =
5 81 g€
28 58
29
. Moment (Mx)
Holding Force Fx1 100 Holding Force Holding Force Holding Force Holding Force Holding Force
(k) Fy2 200 (k) Fx 80 (kgf) Fx 100 (kgf) Fx 80 (k) P 80 (kg) Fx 50
Allowable Load Allowable Load Allowable Load
(kgf) Mx 1,000 (kgf) Mx 1,000 (kgf) Mx 300

M t (k
it LR
BA-444 BA-445 BA-490 BA2818E BA3300 A/B/D BA4300 A/B/D

Allowable 1 T Holding Allowable Holding Allowable l T Holding
Force (Fx) Load (Mx) Force (FX) Load (Mx) Force (FX)

Load (Mx) l T
2 '-"!\:I;:ent (Mx)
I Moment (My)

Holding
Force (Fy)
+—

Moment (My)
-
.| m
. 2
O Holding Force Holding Force Holding Force Holding Force Holding Force Holding Force
% (kgf) Fx 100 (kgf) Fx 500 (kgf) K%ment My) 100 (kgf) Fx 80 (kgf) Fx 80 (kgf) Fx 80 %
(&) Moment (kgf) Mx 100 Moment (kgf) Mx 100 Allowable Load Allowable Load Allowable Load >
= (L="10mm) My 200 (L=710mm) My 200 (kgf) Mix 1000 (kgf) Mix 1000 (kgf) Mix 1000 o
Allowable l T Holding Allowable l‘ T Holding Allowable l. T Holding
_ Load (Mx) Force (Fx) Load (Mx) Force (Fx) Load (Mx) Force (FX)
= E% mE
gbl 35 59
59 iy -y
:Ic:) 8 I
Moment (Mx) Moment (Mx) Moment (Mx)
1 Moment (My) iMoment (My) Moment (My)
Holding Force Fx 100 Holding Force Fx 100 Holding Force Fx 100 Holding Force Holding Force Holding Force
F; F 12 F; 12
(kgf) Fy 200 (kgf) Fy 200 (kgf) Fy 200 (kgf) g 80 (kgf) g 200 (kgf) . 200
Moment (kgf) Mx 50 Moment (kgf) Mx 100 Moment (kgf) Mx 100 Allowable Load Allowable Load Allowable Load
(L=T10mm) My 100 (L=T10mm) My 120 (L=110omm) My 120 (kgf) M 700 (kgf) M 1000 (kgf) Mx 1000
203

202



ALUMINUM RACKING SYSTEM

TECHNICAL SPECIFICATIONS AR TECHNICAL SPECIFICATIONS

JOINT HOLDING FORCE & MOMENT JOINT HOLDING FORCE & MOMENT
ACY-06A ACY-07A ACY-08A

ABS-0530 ABS-4320 A/C/D/E ABS-620

z S

Holding Holding Holding ,E’;’ _E‘g,’

Force (Fy) Force (Fy) l Force (Fy) S5 35

I I @

]
Holding Force Holding Force Holding Force Holding Force Holding Force Holding Force
F F 5 F F F

y 0 (ka) / *0 (kg) y 0 (kg * % (ka) " % (kg * %
Moment (kgf) Mx 60 Moment (kgf) Mx 60 Moment (kgf) Mx 60
(L=110mm) My 120 (L=110mm) My 120

(kgf)
(L=110mm) My 120
ACY-N304 ACY-N307 ADT-5H

ACHA-6040A ACPA-H6026A ACPA-V6026A
= = =
2s 2 2
Holding Holding Holding ? % ? % ? %
Force (Fy) l Force (Fy) l Force (Fy) = = =
& Moment (Mx) Moment (Mx)
- IMoment (My) Moment (My) i Moment (My)
= m
(&) Holding Force Holding Force Holding Force Holding Force Holding Force Holding Force T
= (kgf) Fy 50 (kgf) Fy 200 (kgf) Fy 100 (kgf) Fx 80 (kgf) Fx 80 (kgf) Fx 50 =
(I_) Moment (kgf) Mx 60 Moment (kgf) Mx 40 Moment (kgf) Mx 40 g
Lll_J (L=110mm) My 100 (L=110mm) My 50 (L=110mm) My 100 r
ACA-309A ACBA-B28 A/B ACY-318 A/B ADT-06/08 ADT-5043A | AWM-2533A |
od oo ol
Holding é g § g é %
Holding Force (Fy) e £ 29
Force (Fy)
‘i‘ Moment (Mx) Moment (Mx) Soment (M Moment (Mx)
rMoment (My) I Moment (My) I Moment (My) ; Moment (My)
Holding Force Holding Force Fx 80 Holding Force Holding Force Holding Force Holding Force
(kgf) Fy 100 (kgf) Fy 200 (kgf) Py 40 (kgf) P %0 (kgf) 5 100 (kgf) Fx 0
Moment (kgf) Mx 60 Moment (kgf) Mx 40 Moment (kgf) Mx 60 Moment (kgf) Mx 50
(L=110mm) My 120 (L=110mm) My 40 (L=110mm) My 100 (L=110mm) My 100
205

204



ROLLER TRACK SYSTEM

TECHNICAL SPECIFICATIONS

TECHNICAL SPECIFICATIONS ROLLER TRACK SYSTEW
JOINT HOLDING FORCE & MOMENT BENDING STRENGTH FOR PIPE Uit ot
nit :kg
AFU-28A/C/S APHA-3027 APHA-633N
W #}. A | A 35 Seri 80
b A Test Condition eres
o 1. Test Speed : 5mm / min 40 series 150
4 - R=are -3
\bc:\i;@% %?\:%9 -g% §§ o 2. Temperature : 23T 60 Series 100
b S5
/ \ e 85 Series 300
Moment (My)
COMPRESSION STRENGTH OF WHEEL SUR ASSEMBLY Uit ot
nit :kg
Holding Force Holding Force Fy Holding Force Fx
(kgf) P 10 (kgf) (AL Pipe) 80 (kgf) (AL Pipe) 30 % ot S
35 Seri 100
M{[’;}?Sf,,‘,',‘gf’ My 120 Test Condition er{es
1. Test Speed : 5mm / min 40 series 150
ST ,
85 Series 300
2<
i ]’ ;77;% o ANGLE RECOMMENDED FOR CONSISTENT |
NG Unit :kgf
B
35 Series 25°
Test Condition
2' fﬁﬂ' 1. Test Speed : 5mm / min 40 Series 20° ﬁ
. . . 2. T t 123C . N
% Holdzzgfl;orce Fy 0 Holdl(:gfl;orce Fx 200 HoIdEng;orce Fx 80 I emperature 60 Series 2.5 é
I ) o
(&) Moment (kgf) Moment (kgf) 85 Series 25°
i (L=110mm) M 100 (L=T10mm) Mx 300 =

207

206



TECHNICAL SPECIFICATIONS rowERmeckswiEn - TECHNICAL SPECIFICATIONS ROLLER TRACK SYSTEN

ROLLER TRACK MAXIMUM LOAD (GI-BODY)

= 5 mm Deflection allowed condition (for 2 parallel Roller Track)

600

LT: Length of Roller Track

Maximum GP6016S GP6033B/HA GPR6016S GPR6033B

L.

oad 400 \ GP3533B GP4035BS
GP4036A/B GP4040A/B GP4050C/D
GP4025M GPR4040A/B/SR GPR4055C

70mm

Load [kgf] 300
GPR8523S GPR8545B/HA
AR A AR 2 L B 2 2 - A AR 2 2 2 2 S s 4
—  GP8525M GP8543B GP8550SR

////

0 500 1000 1500 2000 2500

o

Length of Roller Track [mm]

900

300

\ 800
250

700 \

200 \ GP3533B GP4035BS 600 \\ GP3533B GP4035BS
=== GP4036A/B GP4040A/B GP4050C/D \\ —
GP4025M GPR4040A/B/SR GPR4055C 500
Maximum 150 \ == GP6016S GP6033B/HA GPR6016S GPR6033B t’laxdim;m —
Load [kgf] oad [kgf]
== GPR8523S GPR8545B/HA 400 \
= GP8525M GP8543B GP8550SR ’ \ o
300
100 \ \\\\ \
200 V\ \
100 \ &\\&

VIINHO3L

TECHNICAL

GP4036A/B  GP4040A/B  GP4050C/D
GP4025M GPR4040A/B/SR GPR4055C

GP6016S GP6033B/HA GPR6016S GPR6033B

GPR8523S GPR8545B/HA

GP8525M GP8543B GP8550SR '

50 N\

N

AN
\s\;

0 500 1000 1500 2000 2500

0 500 1000 1500 2000 2500

Length of Roller Track [mm] Length of Roller Track [mm]

208 209



TECHNICAL SPECIFICATIONS rowERmeckswiEn - TECHNICAL SPECIFICATIONS ROLLER TRACK SYSTEN

ROLLER TRACK MAXIMUM LOAD (AL-BODY)

= 10 mm Deflection allowed condition (for 2 parallel Roller Track)

= 3 mm Deflection allowed condition (for 2 parallel Roller Track) 600

200 400 \ GP3533B GP4035BS
GP4036A/B  GP4040A/B  GP4050C/D
GP4025M GPR4040A/B/SR GPR4055C
Maximum oo \ GP6016S GP6033B/HA GPR6016S GPR6033B
150 - \\\\
\ = GPR2528A 200 \
GPR4040A/B GPR4055C
=——— GPR6016S GPR6033B
\ = GPR8523S GPR8545B/HA/SR # 100 &
\ o
0 500 1000 1500 2000 2500
\ Length of Roller Track [mm]
0

0 500 1000 1500 2000 2500

250

500

GPR8523S GPR8545B/HA

GP8525M GP8543B GP8550SR
Maximum

Load [kgf]

100

////

Length of Roller Track [mm]

= 5 mm Deflection allowed condition (for 2 parallel Roller Track)

400

350

300 \

\
- \ f
0ad [kgf] ) \\\ GPR2528A
O\
. AN

N~

TECHNICAL
VIINHO3L

GPR4040A/B GPR4055C
GPR6016S GPR6033B
GPR8523S GPR8545B/HA/SR

\»

0 500 1000 1500 2000 2500

Length of Roller Track [mm]

210 211



EXA M PL ES EXAMPLE FOR IMPROVEMENT EXA M PL ES EXAMPLE FOR IMPROVEMENT

: Stor Rack -

| -l
|| _Pressiine |y
T ¥
AL
]

lh."llll ]

EXAMPLES
S31dNVX3

212

213



EXAMPLE FOR IMPROVEMENT

)
LL]
1
an
=
=
LL]

EXA M PL ES EXAMPLE FOR IMPROVEMENT

i : ..u“m:

" | 1

i ey

4

Tl VT e
i = _ ¥ Il
I %'F_MI |H
T
AT i
g e .
1 :__._ul._n.i:.n..l
(i
S N
<
&
<

Low Cost Automation

[}
£
—
D
£
>
[
>
o
Q
O
©
S
e
0
ol
o
-

Assembly Line

q.._.
o
| @
3 "
<
(0]
S
s
]

CERETNE]

215

214



EXAMPLES

| AL
L

LT L

S
=
=
m
7
z
o
%2
L1
—l
o
=
N

, el
Rl

EXA M PL ES EXAMPLE OF SLIDING RACK

CERETNE]

217

216



EXA M PL ES EXAMPLE OF SLIDING RACK EXA M PL ES EXAMPLE OF CART

f‘*‘f'";f:".:f

il yEETEE——— = LT

m
S
=
o
r
m
7]

)

EXAMPLES

L,
-

218 219



EXAMPLES EXAMPLE OF CART EXAMPLES EXAMPLE OF CART

(7]
-
o
=
2
L

S31dNVX3

220 ' ) 221



EXA M PL ES EXAMPLE OF CART EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM

EXAMPLES
S31dNVX3

AT i T T A s ., Aot el |
222 223



EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM

Y J Tj =

I

e i

= Auxillary Stage et £
__"_:-"1-. ‘H— ;Iﬂ“ r

m
S
=
o
r
m
7]

EXAMPLES

224 225



EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM

(7]
-
o
=
2
L

226

EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM

i
Fence for Safety | 4 ’r"i

S31dNVX3

227



EXA M PL ES EXAMPLE OF ALUMINUM RACKING SYSTEM EXA M PL ES OTHERS

Handrail for Safety | _ . . S Modern Art Exhibit Hall
- - = '._

IfrI

1||_ _l'

[ e -
il 2 =5
B .

X

I',

.
'.-;._{E:"t_ ful'?'
A LA S

-
kT
L]
= i
=
s gl L

(7)) ul
i 2. S WY NN 5
o = =
g —— : :
(1] - _ - (I"I';

== = :“:*-::':'_: —_=

St S o

St 2 T Z

A\

228

229



EXAMPLES  omers EXAMPLES  omers

Fence for Construction Site

oIIer Skete Trainer

Prefabricated Fence

| Prefabricated Stage |

(i

—
9

Surfboard Storage Rack N

S31dNVX3

(7]
-
o
=
2
L

230 231



T

P
-

®

£ www.ams-fa.com

ADVANCED MECHATRONICS SOLUTIONS, INC

AMS, INC. Advanced Mechatronics Solutions, Inc.
10030 Via de la Amistad, San Diego, CA 92154 € +1(619) 661-5985 ¢= +1(619) 661-5995 @ ams@ams-fa.com

ANIS, Atlanta AMS Dynamics, Inc.
2979 Pacific Drive Suite A Norcross, GA 30071  +1(770) 864-5394 = +1(678) 691-1847 @ infoATL@ams-fa.com

AMS de MEXICO AMS Factory Automation de Mexico SA de CV
Poligono Buenavista -- Calle Cementera Lote 9, Mz 8 Ejido Buenavista - Querétaro, Qro. 76225
Q +52 (442)312-0920 @ mexico@ams-fa.com

AMS do BRASIL AMS do Brasil Automacao Industrial Ltda
Rua Antonio Raposo Tavares, 363 Macuco. Valinhos/SP.13279-390 € +55 (19) 3849-5555 @ contato@ams-fa.com



